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(003) 4 £ Bt (020204) <z fih =% (02)ilEF 45 5% TR VW10 iiciobahd 1o °) 79.68 | it
(003) 4 fib 2 (020204) 4= il 2% (03) A ] 4k g 110 el 715 7753 | Wit
(003) 4 £ Bt (020204) <z fih =% (05)iEF T 371217 5 I 45 k5 14 xrxrxninink ()66 76.70 | it
(003) 4 £ Bt (020204) <z fih =% (01) L% MARAT KEE 4 Qrrrirririrx()5Q 75.08 | it
(003) &b 5% (020204) 4 il 2% (02)iFF 5wt KiZAS 23(xrrxrRxIEX ()G 86.43 fifi
(003) 4 fib 2 (020204) 4= il 2% (03) A ] 4k k& 14QFxrxxsararxgg 82.00 | it
(003) 4 £ Bt (020204) <z fih =% (02)ilEF 45 5% HEE B0 *xxxwxixix3 A 7295 | it
(003) 4 fib 2 (020204) 4= il 2% (02)IEF5 5 % A K]0 a0 ) 79.58 | fit
(003) &Rl 2 ¢ (0202J1) &b Rl (01)H 71t M 5 X Yedk X8R ik KT5]0 iaiieiebiabada e} 90.85 | M+t
(003) 4= 4Bt (0202J1) &b Rl (03) &Rl R E A 73 pr B R 34QFrrrrrsariax()D) 82.05 | Hit
(003) 4= 4Bt (0202J1) & @R (03)4: ik R Hi AR 73 A TR 13Qr*rwxnararing () 89.48 fisi -+
(003) &~ Bt (0202J6)47 N <Fl (00) AN X 43 Bt 52 J7 111 Y 152***HxFxRIXEXQD() 7547 | Wit
(003)4:fib 2 (0202J6)17 Hy 4 (00)ANIX 43-8F 53 77 [F) BEHL Y R0 1o 82.93 | Wit
(003) 4 fib 2 (0202J6)17 Hy 4 (00)ANIX 43-8F 53 77 [F) HiEE 4 Hrrrkrinining gy 78.73 | Wit
(003) &b 2 5% (0202J6)4T A4 fih 7 (0O) AN X 3Bt 95 77 171 Z=HER 32 *r¥xr*xIXAGDT 85.70 fisi -+
(003) &b 2 5% (0202J6)4T A4 fih 7 (0O) AN X 3Bt 95 77 171 X K B54****xxrixx()DQ 80.93 fisi -+
(003) &b 2B (0202J6)17 Hy 4 ¢ (00)ANIX 43 8T 53 77 [F) AR 43Frrrrrrininix )4 79.77 | Wit
W59 59
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EBUERE EHCE FEUT 5 1A] w4 W55 RS R
(003) &b 2 5% (0202J9)IM & & H (02) B E TR LT N Z=A M, B20*****x¥xxkxx (DX 84.10 | HEHA
(003) 4 fih 2= B (0202Z22) 4> il T 74 (03)4T M4t EHE 5 Qrraxsrsrnrnnz 4 ¥ 87.50 | Hi#A
(003) &Rl 2 ¢ (0202Z2) 4=/ T-F2 (O1)& b % 7= 2 BN 5Q*x*xskxkxrirgOq 90.95 | M+t
(003) &Rl 2 ¢ (0202Z2) 4 fh THE (02) 4 Ft R[5 7 B B 35Q**Hxxrkrr5EQ 88.40 | Wit
(003) 4 fib 2 (0202Z2) 4%l T 72 (01) &l 7= &t 7= N BN 13Q¥xxxxsxrargO() 76.90 | it
(003) 4 fih 2= B (0202Z2)< il 7% (02) 4 ik X 7 B HIE 2 QrrrrsxRxRx()D 84.45 | Wit
(003) 4 £ Bt (0202Z2) 4= il TH2 (04) &Sl 7 Bt LefE Y i VI ¢ 90.63 | Mt
(003) &b 2B (0202Z2) 4%l T 72 (01) & il % 7= 7€t SRA 4 qrreririnining () 81.03 | Wit
(003) 4 fib 2 (0202Z2) 4%l T 72 (04) Ak &/l Bt T ik 4 QF*rkririaReq D1 86.40 | it
(003) 4 fih 2= B (0202Z22) 4> il T 74 (01) &=l 7™ 7€ thr X1 R 4 Frreeere ()G 7290 | Wit
(003) &b 2 5% (0202Z2) 4t % (02) 4 A s 7 38 THE VR0 lbobeiadoabobeiod DY 80.25 fifi
(003) 4 fib 2 (0202Z2) 4%l T 72 (04) Ak &/l By %G 43Q*r*rrririxix5OQ 88.20 | it
(003) 4 fib 2 (0202Z2) 4%l T 72 (02) 4 R 7 1 &Ekta K]0 bbb 07/ 1) 90.33 | #it
(003) &Rl 2 ¢ (0202Z2) 4=/ T-#2 (04) &AL &: il 3 Bt gt VX0 bbbl 3 1 92.70 fisi -+
(003) 4 fib 2 (0202Z2) 4l T 72 (01) &l 7= &t E8-%1 B4 Qxxrwrnrinix())h 81.68 | it
(003) &~ Bt (0202Z4)f5 F & (O1)S A H 2k 4x BrpedE BAQ**x**rwxRx* AT 72.90 fisi -+
(003) 4 fih 2= B (0202Z4)f5 45 (DL &1 B REE 1 3QrrHrHrRERERGD 82.90 | Wit
(003) 4 fil 2% bt (020227 ) {R ;5 (O1) XIS & 3 5 fR 45N 220 (02X 85.78 | EHIH4
(003) &Rl 2 ¢ (0202Z7)fK (O1)XUR: 5 PRI BE 12 5 52 Rk 5QQ******rkxixx3z()7 87.46 | Wit
(003) &Rl ¢ (0202Z7)fK (O1)XUR: 5 PRI BE 12 5 52 b=y 5OQ******rxxixxg(5 85.40 | Wit
(003) 4 £ Bt (0202Z7) R K5 (03)LRKHE 7R PH KY{ Vi A K1 87.70 | Wit
(003) 4 £ Bt (0202Z7) R K5 (03)LRKHE i f= ({0 il K I 84.33 | Mt
(003) &b 2 5% (0202Z7) Rk 2 (O1)JXUKE 5 R[5 B SRR 33QF*r*xrxrrx(38 88.73 fisi -+
(003) &Rl ¢ (0202Z7)fK = (02)fRIG M55 5 2= fr R 532r*xwwxkarixx())() 90.03 fisi -+
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EBUERE EHCE KU F T 9] w4 W55 RS R
(003) &Rl 2 ¢ (0202Z7)fK (O1)XUR: 5 RIS BE 12 5 52 TRERB 23(QF*rwkxRIAxY {4 7817 | Wit
(003) 4= fib 2 (025100)4: it (01) 4k B R R 34QrrersrsrkrinnOQ 7353 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 EER 1 3Q***xrsrrrirgOY 86.73 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k & B52*x**sxskxkxxT DG 8143 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 BEH 33QF*HFxHFHIEXX(DD 78.53 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k B —1i§ K10 VAt 011 82.30 | #it
(003) &b 2 5% (025100) %> Fil (01) &2 SR B 5 xrsxrssxsixrgBQ 87.65 fifi
(003) &b 2 5% (025100) %> Fil (01) &2 xR 1 5Q**rHxrRxIAR] 4G 86.43 fifi
(003) &b 2 5% (025100) %> Fil (01) &2 3 33QrrxrrrrEExE AL 87.65 fifi
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 7 o) 21 QrHrrrrrxREX()D 5 77.03 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 BR3Eth 33QFHrHrrRREEH()DD 86.80 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k BRI Y e 4 87.60 | Hit
(003) &b 5% (025100) %> Fil (01) &2 PR K KKK Reieiioheioboioiol 1) 4 83.88 fifi
(003) 4 fib 2 (025100)4: it (01) 4k PR H Q3Q*r*rkrkrinix ()]G 83.00 | #it
(003) &b 5% (025100) %> Fil (01) &2 oy e 3):] 35Q***xrHxxREx*G5O() 84.65 fifi
(003) 4 fib 2 (025100)4: it (01) 4k FRER 5QQ******skxsss7 o0 85.78 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k EXE 4 2 xrwxwrEAREXQDT 77.88 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k XBIEHL N [0 oot 1o % 78.35 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k T4 2 QF*r*xsrmarx3zO() 83.40 | it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 473 i 5QQ**********x%(2Q 80.63 fisi+
(003) 4 fib 2 (025100)4:fit (01) 4k HEE 2 i bbb 577) 82.20 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k Wk BYQrrrrsrkrkainpO 90.90 | #it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 a1 23(Qr**r*xrExIEXD 13 84.28 fisi -+
(003) &= fil 2 bt (025100) 4 it (01) 4= SEniiy K150 bbb 0215} 85.50 fifi
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(003) 4= fib 2 (025100)4: it (01) 4k R 2 Q¥r*rkrErREx3D() 7843 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 Tk ) bbbt ¥ ¢ 88.93 fisi -+
(003) &b 2 5% (025100) %> Fil (01) &2 £+ 5 xsxsssxsixs o) 83.00 fifi
(003) 4= fib 2 (025100)4:fit (01) 4k =ik 142 *xwxnarinix ()7 7725 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 R FE K710 eiieiebaieede” 1+ 7 85.70 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k 32/ NN 5QQ****xrkxxrg)7 80.18 | it
(003) 4 fib 2 (025100)4:fit (01) 4k BXE 14 r*xwxserinix()DQ 88.28 | it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 MR 142x**xxxxkxrkxgy 3 77.98 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 EEL)N 5 3F*x¥xxixrkxs70Q 91.53 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 BR B 33QFHrxrFHHEAZON 81.03 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k BB E K7/ % bbb 421 80.76 | it
(003)&:Fl 5% (025100)%> fil (01) & Fh 2 BT 7/ I bbbl 21 7096 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 AR 0 oo’ 1o15 76.35 fisi -+
(003) 4 fib 2 (025100)4: it (01) 4k k=357 K110 it K] 88.00 | it
(003) &b 5% (025100) %> Fil (01) &2 W VST iiabeiaieda O § D4 86.20 fifi
(003) &b 5% (025100) %> Fil (01)&:fih 2 BE Y 5QQ**********x%(2D 79.25 fisi+
(003) 4 fib 2 (025100)4: it (01) 4k HREA 1 Qr*rwxsersrixgOL 84.85 | it
(003) &b 5% (025100) %> Fil (01) &2 HEY 5 Fxrwsrssxmixrg gy 85.10 fifi 4
(003) &b 5% (025100) %> Fil (01)&:fih 2 HHE QBQ***1¥x*kxIEXGOT 87.00 fisi+
(003)4:fib 2 (025100)4: it (01) 4k WK QB Q*r*rkrkrknixGAT 74.08 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 T AR 32 FxxHxrxREXADRT 80.20 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k VL3R N [0 bbbl Vo5 73.98 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k BET 53Qr*ersrsrkris53g 73.63 | Wit
(003) 4= fib 2 (025100)4:fit (01) 4k =KE J7 rrememararing Ay 80.28 | Mt
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(003) 4= fib 2 (025100)4: it (01) 4k 2= &1 K710 e A 88.06 | it
(003)&:Fl 5% (025100)%: fil (01) &R~ Z=Z B 152 *rixkRAREX 31 () 68.07 | Wit
(003) &b 2 5% (025100) %> Fil (01) &2 Z= KA KV (0 kil 115} 86.17 fij -
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 Z= &7 Hi Kt eioiciebaieiado I 85.95 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k ZRIET 5 Qrersskrkninz (5 91.38 | #it
(003) 4 fib 2 (025100)4:fit (01) 4k Z= 4 QF*rrrnrrarix ()37 80.54 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k ZHE SR [0 bbb 0 o1 83.85 | it
(003) 4 fib 2 (025100)4:fit (01) 4k Z=18 33Qrrrrrareraer()Dg 85.90 | it
(003) 4 fib 2 (025100)4:fit (01) 4k Z=18 13QF*rwxsarar*5q) 83.30 | fit
(003) 4 fib 2 (025100)4:fit (01) 4k ZREE 5QQ*****rkxner5g() 87.48 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 e B20********+¥xx(D8 85.20 fisi -+
(003) &b 5% (025100) %> Fil (01)&:fih 2 =9 B 2 QrHxrHxFERIR*D X 82.68 fisi -+
(003) 4 fib 2 (025100)4: it (01) 4k 15 22(Q¥*r*xHrsAREXGOL 80.70 | #Wit
(003) 4 fib 2 (025100)4: it (01) 4k ZREE 4 Qrrrreririnix ()7 84.90 | Wit
(003)&:Fl 5% (025100)%> fil (01) & Fh 2 ZAhE X [0 i’ 115 85.35 | Wit
(003) &=l 2 bt (025100)4: i (01) 4= Xl B3 522 x**xxkxxikxxn0Q 85.48 fifi 4
(003) &=l 2 bt (025100)4: i (01) 4= XIZFF VS Rebekiaiebedobaiade” V. [ 82.03 fifi 4
(003) 4 fih 2= B (025100)%> fil (01) 4R pyif=2 32 r*rkrkrEx5OQ 7490 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 X 3CiF Kt eioiciebaieieda 0 21 85.70 fisi+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 pUEPN 5QQ*******x+xxx(21 80.98 fisi+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 X FAZ 12Q****xxsx*IT X 87.73 fisi -+
(003) &b 2 5% (025100) %> Fil (01) &2 X BQQ****ksnixrgq4 85.55 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k 254 VT bbbl sV 5 83.36 | it
(003) &= fil 2 bt (025100) 4 it (01) 4= TR K750 aiadoabobeeiaie 1151 86.68 fifi
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(003) &b 2 5% (025100) %> Fil (01)&:fih 2 B Wie J7QF***xxxxrkxig 2 86.50 fisi -+
(003) &= fil 2 bt (025100)4: i (01) 4= BT 010 ibibobiobold V2 V' 87.20 fifi
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 BEER 5QQ*******x+¥xx1Qg 83.23 fisi -+
(003)&:Fl 5% (025100)%> fil (01) &R T/NEL 53Q =348 86.10 | fiit:
(003) 4 fib 2 (025100)4:fit (01) 4k F= 1 2QF*xHrsaRERRZON 78.63 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k BR-Frt 42 *r*xwrrarix()8G 87.53 | Wit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 i 8 2 Qr¥***x*ExIEX5D(0) 81.55 fisi -+
(003) 4 fih 2= B (025100)%> fil (01) 4R JRAT Y 5 qrremsskrkningqy 80.40 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k FRE 4 QF*rrrmrrarix()D() 83.25 | fit
(003) 4 fib 2 (025100)4:fit (01) 4k R AL 23 *rwrkrkninix oL 81.83 | #it
(003) &b 2 5% (025100) %> Fil (01) &2 Ry 22(xx*xrRRRIAXG 85.18 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k AR IE 33Qrrrrrwrnararg ] 8140 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 i 35Q*******xrE** (56 82.03 fisi -+
(003) &b 5% (025100) %> Fil (01) &2 REH Z2xrkxmrnsixr ()7 81.43 fifi
(003) &b 5% (025100) %> Fil (01)&:fih 2 RERE 21 QrrarrrrRIEX())D 83.33 fisi -+
(003) 4 fib 2 (025100)4: it (01) 4k R 2 I bbbl 77 88.65 | it
(003) &b 5% (025100) %> Fil (01)&:fih 2 REFHH 22(********x**DDQ 81.10 fisi+
(003) &b 5% (025100) %> Fil (01)&:fih 2 e 15Q***xwwrkarix 380 84.88 fisi -+
(003) & Fl 5% (025100)%> fil (01) & Fh 2 AT T V(O ¥ 83.70 | it
(003)4:fib 2 (025100)4: it (01) 4k HA 52Q****rkrkrixg0Q 82.83 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k FHIR Y Rt [o¥ 7776 | Wit
(003) &Rl ¢ (025100)4> fil (01)&:fih 2 FHEHE 4 QF*rrrnrrarix ()7 84.43 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k FHE Z7QrersskRkRERD DD 79.75 | Wit
(003) 4= fib 2 (025100)4:fit (01) 4k TN B1Q****xsrkrixn()) 78.70 | Wit
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EBUERE EHCE KU F T 9] w4 W55 RS R
(003) 4= fib 2 (025100)4: it (01) 4k F i Q3Q**rwriraR*()D 92.10 | Wit
(003) 4= fib 2 (025100)4: it (01) 4k TN 4 ] *rrrsrinining 08 77.40 | Wit
(003) 4= fib 2 (025100)4:fit (01) 4k FERkta 5QQ***xxsrkxix )44 81.90 | it
(003) 4= fib 2 (025100)4:fit (01) 4k FHb 5 Qr*sssrkninzfQ 88.63 | it
(003) 4 fib 2 (025100)4:fit (01) 4k FiTE B1Q***resrsrkng 34 81.90 | #it
(003) 4 fib 2 (025100)4:fit (01) 4k FF4 1 5Q¥*H*ReRERERH()DT 78.78 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k FEE ViV b c YT 78.75 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k F—& 1 2Q¥*H*rRRIEIAT | 5 85.13 | Hit
(003) 4 fib 2 (025100)4:fit (01) 4k Fikk Q4 *rwrsrininix5() 83.38 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k FiE B2 **rRkIHIAR()D ] 87.88 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k F ik 33QrrerrrkrkrirgOL 81.33 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k FrREE 5 Qresskrkrin)qg 8755 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k LS i} 5 3rrwesarinies()34 80.93 | #it
(003) 4 fib 2 (025100)4: it (01) 4k R KT5]0 bbb 0 o) 79.48 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 L 5 QF***xxsxrkxx (024 83.95 fisi -+
(003) 4 fib 2 (025100)4: it (01) 4k RIKE 4 Fereresarix5og 88.38 | it
(003) &b 5% (025100) %> Fil (01)&:fih 2 RfE SN K ieioieiobaioiaiok D27 86.83 fisi+
(003) &b 5% (025100) %> Fil (01)&:fih 2 Rz QA XF**FXIEXIEXA D) 83.00 fisi+
(003) &b 5% (025100) %> Fil (01)&:fih 2 RPN 23(Q***r*xrkxIEx4DQ 83.60 fisi+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 REK 23(Q***r***ExIEX5D(0) 75.60 fisi+
(003) &b 2 5% (025100) %> Fil (01) &2 RER KW hbbobidec ¢ 85.78 fifi
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 B 3@ *rHrREAIEXRGDD 83.93 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 WL 3YQF*rF*rxIEAIGARG 78.78 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k il 5QQ******xkxxxrgE 84.40 | Wit
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(003) &b 2 5% (025100) %> Fil (01)&:fih 2 i€ KK} Reioieiobaieieda 0 21 75.33 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 AR 1510 eoieiebaieiede” Y21 80.60 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k w% 0 ieioiobiedaC 1) ¢ 7427 | Wit
(003) 4= fib 2 (025100)4:fit (01) 4k w% K Ieiobieiobiaboda 754 7840 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k 7S B4 Qrrerrrsrknin3z0E 81.08 | Hit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 PN J7QF****x*xxxxxg() 82.80 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 3 51Q*****x¥xrixr56Q 77.85 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k AR KTS]0 e Y21 78.95 | Wit
(003) &b 2 5% (025100) %> Fil (01) &2 WHE R 5 Qx*xrsrxsixxgyy 80.90 fifi
(003) &b 2 5% (025100) %> Fil (01) &2 HET 1 3Q*xrHxrsRRIEXGD 83.83 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k S| 14Qr*xnessrinsx) 79.63 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k - 22 *xrwxRERER ()51 83.96 | it
(003) 4 fib 2 (025100)4: it (01) 4k [l YA e A V4 76.10 | #Wit
(003) 4 fib 2 (025100)4: it (01) 4k ¥4k R 4 2¥rwrwrknining 4G 8523 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 MR 5 3Fxrxxrsrrirrq7Q 81.98 fisi -+
(003) &b 5% (025100) %> Fil (01) &2 YiFE 14QFxrsersaxrixqq 79.23 fifi 4
(003) &b 2= B (025100)%> fil (01) 4k 7R 7% I bbbty 47 7843 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 3L QQ***+*xxxx*E*31 () 77.90 fisi+
(003) &b 5% (025100) %> Fil (01)&:fih 2 BkEF A %0 oioteiobaiebaiok P21 82.90 fisi+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 MR 53Q****xxxxrkrrq45 82.25 fisi+
(003) 4 fib 2 (025100)4:fit (01) 4k - 5 Qr*erersrsrsngz oy 87.73 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k WX 32rr*rrrkxrxx8Q 81.88 | fit
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 TEH 232r*xHExFERIX (DN 81.37 fisi -+
(003) &b 2B (025100)%> fil (01) 4k KEE 3ZQrrrrxraririxgOQ 7590 | Wit
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(003) 4= fib 2 (025100)4: it (01) 4k Wir ¥ e Y e cTo% 76.60 | #it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 REH 522 *x¥xxkxkkxx g1 82.88 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k TR s F 53Qr*ersskrknkng 7 89.70 | Hit
(003) 4= fib 2 (025100)4:fit (01) 4k TkiE 3EQ*r**xrkraxx()37 83.35 | Mt
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 KT 2 Qr¥xr*xIERIEXQLT 83.53 fisi -+
(003) &b 2 5% (025100) %> Fil (01) &2 7K1 (o5 [0 nieiaiebedobeioiel P25 76.45 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k TR 7k 23QF*rwrwaRaRERT O 80.38 | fit
(003) 4 fib 2 (025100)4:fit (01) 4k Kt K00 bbb ) ¢ 78.73 | Wit
(003) &b 2 5% (025100) %> Fil (01) &2 ke 34Qxrrrrrrrrixr 533 74.28 fifi
(003) 4 fib 2 (025100)4:fit (01) 4k KB V% bbbt P/Y 7145 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k KB 22(Q¥*r*xwrsaREx ()15 76.10 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k BIRMN KO bbb’ V0] 7748 | Wit
(003) 4 fib 2 (025100)4: it (01) 4k VK 1 3Q¥rHrrrReRRRx()38 70.38 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 R VK 5 Q*xxsxssriax 0¥ 81.30 fisi -+
(003) 4 fib 2 (025100)4: it (01) 4k RASRAE 1 3Q¥rHraReRERE DG 87.60 | Hit
(003) 4 fib 2 (025100)4: it (01) 4k RS 222 *skxHRIEREXGO() 82.10 | Wit
(003) &b 5% (025100) %> Fil (01)&:fih 2 2.7 5QQ************355 87.65 fisi+
(003) 4 fib 2 (025100)4: it (01) 4k B — ik B2Q***rkrkREXGIL 80.10 | #it
(003) 4 fib 2 (025100)4: it (01) 4k R 5 Qrresnsnkning (3 7358 | Wit
(003)4:fib 2 (025100)4: it (01) 4k RAEE 1 3QrHrHrRERERE()D 81.20 | #it
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 %EE X (0 ichaieiaiadab 2 82.25 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 JE Hhsh S ioiciebaieiedo 0 [ 77.56 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 AR 51Q****xx¥xrixx(Dg 81.05 fisi -+
(003) 4= fib 2 (025100)4:fit (01) 4k A vk i VN i Y- ¥ 82.37 | Wit
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VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(003) &b 2 5% (025100) %> Fil (01) &2 AR QA QrrRxrrrrixg)() 84.05 fifi
(003) &b 2 5% (025100) %> Fil (01) &2 KBRBE (oN [ Seeiaiebedobaioiel V151 84.33 fifi
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 KEG 350 *****x**I5AG 78.98 fisi -+
(003) &b 2 5% (025100) %> Fil (01)&:fih 2 Fi 2 rHrmkasiaRix gD | 86.58 fisi -+
(003) 4 fib 2 (025100)4:fit (01) 4k a4 BYQrrerrskRRRRIAL 83.93 | Mt
(003) 4 fib 2 (025100)4:fit (01) 4k AR AT 1S 5QQ******xkxxxgoQ 84.15 | Wit
(003) 4 fib 2 (025100)4:fit (01) 4k IS 5 q*xsssariniesgqQ 7160 | #it
(003) &b 2B (025500) 5% (00)ANIX 43-8F 53 77 [F) R 3 [V ool I £°) 86.83 | Mt
(003) 4 fih 2= B (025500)Fx (00)ANIX 53-8t 5t J7 [F) BXA K10 ool S IV 82.13 | Wit
(003) &b 2= B (025500) 5% (00)ANIX 43-8F 53 77 [F) s 2 QrrrrirERRRQ X 90.76 | Wit
(003) &b 2 5% (025500)f# 5: (0O) AN X 3Bt 95 77 171 ZHE 2 Qr¥*r*xrErIEXQDT 84.98 fisi -+
(003) 4 fih 2= B (025500)Fx (00)ANIX 53-8t 5t J7 [F) AR 22(¥r*rHxkxRRIXED 84.10 | Wit
(003) 4 fih 2= B (025500)Fx (00)ANIX 53-8t 5t J7 [F) TR 13QF*HxF*FHIAIXGED 86.97 | Wit
(003) &b 5% (025500)f# 5: (0O) AN X 3Bt 95 77 171 XN 13Q* *x*****IEREAR 91.10 fisi -+
(003) 4 fih 2= B (025500) R (00) AN X 4t 5 77 1] Xk K10V Atabieiobiaieda015) ¢ 85.85 | it
(003) 4 fib 2 (025500) 5% (00)ANIX 43 8T 53 77 [F) LZE 3 Q¥ *rkrknknixg DR 82.50 | it
(003) 4 fib 2 (025500) 5% (00)ANIX 43 8T 53 77 [F) FEE YA RV 1 86.40 | it
(003) 4 fib 2 (025500) 5% (00)ANIX 43 8T 53 77 [F) ] B Q¥ *rwxwxrAREAADG 87.75 | Wit
(003) 4 fih 2= B (025500)Fx (00)ANIX 53-8t 5t J7 [r AL 23(¥rHrrRERERIRTAT 89.30 | it
(003) &b 2 5% (025500)f# F5: (0O) AN X 3Bt 9 77 171 L) BHI**HF*HFXIXHGRD 92.57 fisi+
(003) 4 fih 2= B (025500)Fx (00)ANIX 43 Wt 58 J7 [r ook R BAQ***rxrkrkRkxGDD 83.45 | Wit
(003) 4 fib 2 (025500) 5% (00)ANIX 43-8F 53 77 [F) LTE-SiA 7710 eieiobdedaC 1) ¢ 83.36 | it
(003) &b 2 5% (025500)f# 5: (0O) AN X 3Bt 95 77 171 KHE J7QF*xxrarixrgD3 84.70 fisi -+
(003) &b 2B (025500) 5% (00)ANIX 43 8T 53 77 [F) TR 5 *xwssssinnes3z oy 86.20 | it
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AR AR BB AT H) 2 IR g ERima RE
(003) < il =[5 (025500) x5 (00) A~ DX I3 AJF 725 7] SE— C¥{U k1710 82.83 | Mtk
(003) 4 il (025500) x5 (00) A~ DX I3 AJF 725 7] KEA B20****rHrrr*(23 89.53 | Mtk
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VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(004) T 5 & P 2 ¢ (1201Z5) K H i & B (O1) RE¥E 5 s e BRI VX Dbt 7% 82.72 fifi -+
(004) -7 & B2 Bt (1201Z5) K Hdi & £ (02) N TR e 58kl HEE VN I bbbl )¢ 83.70 fifi -+
(004) 7 /& 2 B (1201Z5) K Hm 45 22 (1) REHE 5 Ve sk 5 fe BB 4 RrrkriRIRRRRGAD 83.46 | Wit
(004) T 75 & B 2= Bt (1201Z5) K #icffs & 2 (01) REHE 5 P e Bkt 5 Qr*ssesrinisn ) 88.98 | Mt
(004) T i & L 2 Bt (1201Z5) K ¥ & #2 (1) K& 5 v & e EE YK i ST0 85.50 | it
(004) L7 &5 7 2 o (1201Z5) K& & 8t (03) 4=l K A b 5 45 1 HPLR 14 2*xxwxxssxrixgqy 90.64 fifi
(004) L7 &5 7 2 o (1201Z5) K & 82 (02) N L e 55 aFl 2 B 5 Qrr*rsknninng (3 89.84 fifi
(004) T 75 & B 2= Bt (1201Z5) K #icffs & 2 (01) REHE 5 P e =% 7N [V ooy 421 84.08 | Mt
(004) T i & L 2 Bt (1201Z5) K ¥ & #2 (01) K& 5 sk & fe ek J7rrwrmamaRaspAL 86.54 | it
(004) T 5 & P 2 ¢ (1201Z5) K H i & B (01 R¥¥E 5 s e Z 5 3rsrwsnianinrg g 73.05 fisi -+
(004) T 5 & P 2 ¢ (1201Z5) K B & 1 (02) N T2 e 55l Fl 2 ¥ 5 Qr*xrsxskrinxgox 88.50 fisi -+
(004) T 5 & P 2 ¢ (1201Z5) K H i & B (01 R¥¥E 5 s e BRESE 5] Q*x*srssrixxgo() 85.58 fisi -+
(004) T 5 & P 2 ¢ (1201Z5) K H i & B (02) N T2 e 55l Fl 2 FE e 21 QrrarrrrxREX()D () 89.92 fisi -+
(004) 7 & 22 B (1201Z5) K ¥ 45 11 (03) & il K e Ak 5 7 2 HWHEF (O bbbk ' 91.02 | Wit
(004) 7 & 22 B (1201Z5) K ¥ 45 11 (03) & Fh R H s A 5 5 22 ki ({0 bbb )¢ 8456 | it
(004) T 5 4 B 2 (120202) Ak F (02)HLUT N E B HAR A iSL 32 2 Qg4 92.04 | Wit
(004) L7 &5 H 2 o (120202) /Y45 B (03)E AT 5 A & # It SRAESG 110 iicdobebiaiol{ 01694 84.04 fij -
(004) L7 &5 H 2 o (120202) /Y45 B (03)E AT 5 A & # It 3 RS 13Q**H*xrxxIEGEY 90.80 fij -
(004) L7 &5 H 2 o (120202) /b 45 51 (01) Al dik s 55 e Ml A A F B 52Q***xrkxxikxrg 14 88.76 fij -
(004) L7 &5 H 2 o (120202) /b 45 51 (04)iafE Je A5 B E 2 X8k K150 bbbl S 91.58 fij -
(004) T & B2 Bt (120202) AV 3 (O1) Al i s 5 s Ml A BBa 51Q*****xrixixx2Q 8464 | Wit
(004) 7 /& 2 B (120202) AV A B (04)iE1E K A5 B B HAE 13Qr*rwxsararin] DG 91.10 | Wit
(004) L7 &5 7 2 o (120202) /b 45 51 (03)E AT 5 A & #t WER 5QQ****+*xxskxx ()5 92.26 fij -
(004) L7 &5 7 2 o (120202) /b 45 51 (01) Al dik s 55 e Ml A FE 7/ 0 ibobeiodoedobeiod D7) 88.48 fifi




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(004) L7 &5 F 2 i (120202) /b 45 B (05) Gk 5 il & 2 2T v 12Q**H*xx*R*IAXGAR 83.44 fij -
(004) T 5 & P 2 ¢ (120202) /b 45 B (03) B AT 37 5 =] #L %3 B2 *xFHxFHRIAXGIN 90.94 fisi -+
(004) L7 &5 7 2 o (120202) /b 45 51 (01) Al dik s 55 e Ml A B 5 KV (0 ki 1 92.52 fij -
(004) 7 /& 2 B (120202) AV A B (04)iE1E K A5 B B OXHE 750 ioiobieiaia{o V.V 84.06 | it
(004) L7 &5 7 2 o (120202) /b 45 51 (01) Al dik s 55 e Ml A TS VS0 bbbl VX 88.12 fij -
(004) T 75 & B 2 e (120202) /b 4% 78 (02)HLUT A S B A % ERGE 33QrHmrrg22 91.06 | Mt
(004) L7 &5 7 2 o (120202) /b 45 51 (03)E AT 5 A & #t FrREf 14 2*x+*xxsnxikxgO5 84.42 fij -
(004) T i & L 2 Bt (120202) AV A B (03)E AT 35 2 =) #EF BEE 13Qr*rwxerarix()DQ 83.80 | it
(004) L7 &5 7 2 o (120202) /b 45 51 (01) Al dik s 55 e Ml A BEER VR0 lbabeiaboabobeiodc Y 88.02 fifi
(004) 7 /& 2 B (120202) 4 b 2 (02)HZ T N 5B BAR & EWE Y10 bbb 15 85.06 | it
(004) T 5 & P 2 ¢ (120202) /b 45 51 (03) B AT 37 5 I =] #L TR 5 rexsanianinn()q3 93.00 fisi -+
(004) L7 &5 7 2 o (120202) /Y45 B (01) Al dik s 55 e Ml A ViR B4Q***rkxrRxR()D | 85.26 fifi
(004) L7 &5 7 2 o (120202) /Y45 B (01) Al dik s 55 e Ml A BE = 4 rxRxrinniix() D6 90.30 fifi
(004) L7 &5 H 2 o (120202) /Y45 B (01) Al dik s 55 e Ml A FE 533xrrxrsrxiixsgog 91.12 fifi
(004) L7 &5 H 2 o (120202) /Y45 B (01) Al dik s 55 e Ml A REFH 35Q***xrkxRA*H (4 1 92.60 fij -
(004) L7 &5 H 2 o (120202) /Y45 B (01) Al dik s 55 e Ml A RATE 14QFxrsxrsaniixnr g 93.02 fij -
(004) L7 &5 H 2 o (120202) /Y45 B (01) Al dik s 55 e Ml A Rk 35Q***xr*xxkx**()DQ 90.96 fij -
(004) T 7 & B 2 e (120202) /b 4% 78 (01) il s 5 s Ml A5 5 keET BQ****xxxX5ID 90.82 | Mt
(004) T- 7 45 H 2 i (120202) 1Mk 2 (03) AT 375 4 =) B Qe ZBQHHHHRRHRRRBAL 85.16 | il
(004) T 7 & B 2 e (120202) /b 4% 78 (02)HLUT A S B A % o SR 132 90.94 | Wit
(004) T 75 & B 2 e (120202) /b 4% 78 (02)HLUT A S B A % S 360 x**320 91.58 | Mt
(004) L7 &5 7 2 o (120202) /b 45 51 (01) Al dik s 55 e Ml A JE BEray 20 ieioicaiobeef 7 ¥ 72.39 fij -
(004) T 5 4 B 2 (120202)f b 7 (02)HLUT N E B HAR A RILFS 430820 91.28 | MitL
(004) . 5 & B 2 e (120203 )i Ji i B (O3)JiliE i P B AT N S E BB LE QA HHxrERTERIEXD D 82.36 fisi -+




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(004) . 5 & B 2 e (120203 )i Jiie & B (O3)JiliE i P E AT N S E BB e 3EQ**r**rrxrx*5OT 81.30 fisi -+
(004) T & 2 2 Bt (120203)jit 7 & # (O3) i ¥H o EAT N5 E W AH X FHe 5 3xrwxrsrxsixr3ng 85.62 fifi+:
(004) T & B 2% Bt (120203 )i Ji i B (03)iiiFiH P B AT NS B/ A =¥E ) V% I bbbl 7/ % 84.40 | Wit
(004) T & 2 2 Bt (120203)jif 7 & # (O3) i ¥H o EHAT N5 E W AH kel 5 Qx*xrssxsixrg gl 92.46 fifi+:
(004) T & B 2% Bt (120203 )i Ji i B (03)iiiFiH P B AT NS B/ A Y X [0 i’ 1o 9324 | Wit
(004) . 5 & B 2 e (120203 )i Jii i B (O3)JiliE i P B AT N S E BB B QAQrH*+**rERIEXG14 86.30 fisi -+
(004) T & B 2% Bt (120203 )i Jii i B (03)iiiFTH P B AT NS B/ A 2= 2 QFxxmixaRArD 1 X 88.84 | Wit
(004) T i & L 2 Bt (120203 )it JifF 5 B (03)i e T H AT A5 E W AH Z=/NER G54 (026 86.30 | it
(004) . 5 & B 2 e (120203 )i Jii i B (O3)JiliE i P B AT N S E BB 1 33 QAQFH*+**FERIEAAQ) 83.76 fisi -+
(004) . 5 & B 2 e (120203 )i Jii i B (O3)JiliE i P B AT N S E BB T & 21 QrHxrHxFRxIR*GIN 84.60 fisi -+
(004) T & 2 2 Bt (120203)jif 7 & # (O3)JiliE i P B AT N S E BB R 13Q**+*xrFx*IEXGD() 82.96 fij -
(004) T i & 2 Bt (120203 )it JifF 5 B (01t liie Al iz 75 5 e 45 5 3 F1E 14QFxrxrxsxrarx()4Q 84.14 | Wit
(004) . 5 & B 2 e (120203 )i I B (O3)JiliE i P B AT N S E BB - i 14 rrxxsxrsarix ()64 85.12 fisi -+
(004) T & 2 2 Bt (120203)jif 7 & # (O3)JiliE i P B AT N S E BB B E 5 Qr**xrkxxixxx 05 85.20 fij -
(004) T 7 & 2 Bt (120203 )it JifF 5 B (01t liiE Al iz 7 5 e 45 5 3 ¥ R 70 ioiabieiaia(o Y 84.18 | Wit
(004) T & 2 2 Bt (120203)jif 7 & # (O3)JiliE i P B AT N S E BB ¥ 7] iabeiobedobeied 85.70 fij -
(004) L. & & F 2 ¢ (120203 )i 7 & B (Ol AV ia 8 5 iR 45 B FEm 1 3Q***rrsrkarix g3y 91.86 fiji+
(004) T 7 & L 2 e (120203 )it JifF 5 B (01t liiE Al iz 75 5 A 45 5 3 KEE Z2Q***rxrkrkrix5Og 88.78 | Wit
(004) T & B2 Bt (120203)jik i i PE (01)iikiF A iz & 5 iR 55 B BhE 0 i 07/ 83.90 | Hit
(004) T & 2 2 Bt (120203)jif 7 & # (O3) i ¥H o EHAT N5 E W AH FAMRE 53xskxrksxikxx 899 81.18 fifi+:
(004) .7 & B 2% Bt (1202Z2) \ 7y B (04)Er b N\ 7y 08 A 2 bR 43Q*rrrwxmxxrx()D] 84.92 | Wit
(004) .7 & B 2% Bt (1202Z2) \ 7y B (04)Er b N\ 7y 08 A 2 %2 ik 43Q*r*rrrErERE= (43 9240 | Wit
(004) L7 &5 7 2 o (1202Z2) \ 73 525 (02)43 3% 55 7 T 5 2 PR |5 o3 I ieiaieedobeioded 10 87.42 fij -
(004) .7 & B 2% Bt (1202Z2) \ 7y B 3 (0152 TAT R EHLITH =AM KY i X ¥ 8140 | Wit




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L EHCE FEUT 5 1A] 4 W55 BRAmE RH
(004) .7 & B 2% Bt (1202Z2) \ 7y B (0152 TAT R EHLUTH HEB 51 fxxssssmsrirgoy 88.46 | fit
(004) .7 & B 2% Bt (1202Z2) \ 7y B 3 (02)53% 5 Hr I 2 BRE 7/ i ook To 91.96 | fit
(004) .7 & B 2% Bt (1202Z2) \ 7y B 3 (0152 TAT R EHLITH LHI B 35Q****xxFRIEX (D 91.62 | it
(004) .7 & B 2% Bt (1202Z2) \ 7y B 3 (04)Er b N\ 3 08 i 2 Bl SN i i o ¥ 82.50 | it
(004) .7 & B 2% Bt (1202Z2) \ 7y B (0152 TAT R EHLITH SR 42Q*+*r*xkxk**QD3 84.72 | Wit
(004) L7 &5 7 2 o (1202Z2) \ 73 525 (02)43 3% 55 7 T 5 2 FEE 52(Q***xx*xxikxx()8Q 91.90 fij -
(004) .7 & B 2% Bt (1202Z2) \ 7y B (02)5 3% 5 Hr I B g QBH2***xxxkREREX (DD 92.70 | Wit
(004) L7 &5 7 2 o (1202Z2) \ 73 525 O A TATANEHLRIT A B 5 Qr**xrkrxinxx 305 91.12 fij -
(004) .7 & B 2% Bt (1202Z2) \ 7y B (0152 TAT R EHLITH X8 7/ i oo /¥’ 72.91 it
(004) .7 & B 2% Bt (1202Z2) \ 7y B (04)Er b N\ 7y 08 A 2 XEE J7 rrememarinixnly 82.06 | it
(004) L7 45 H 22 5t (1202Z2) \ 73 505 8 3 ONRTATHEHLITH =5 S QrrHmT588 91.78 fift +
(004) .7 & B 2% Bt (1202Z2) \ 7y B (0152 TAT R EHLITH PERE 51 xxsxrkririx()Dg 73.96 | fit
(004) .7 & B 2% Bt (1202Z2) \ 7y B (02)53% 5 Hr I 2 RAEF 13 xHxHIAIAIAT Y3 91.90 | Wit
(004) L7 &5 H 2 o (1202Z2) N\ 73 525 (02)4 3% 55 37 T 5 2 IHEta 7% [ nioieiaiehiaiel - 7 ¢ 90.52 fij -
(004) .7 & B 2% Bt (1202Z2) \ 7y B 3 (0152 TAT R EHLITH AHER 14QFxrxrxrxrarx()g3 82.62 | it
(004) .7 & B 2% Bt (1202Z2) \ 7y B 3 (04)Er b N\ 7 08 A 2 "R 4 2xrrrrrininix a0 81.58 | fit
(004) .7 & B 2% Bt (1202Z2) \ 7y B 3 (0152 TAT R EHLITH B H 4 rHrwxwxxR* (DX 84.72 | Wit
(004) T & B2 Bt (1202Z2) \ J1 %55 B (0N R TAT N EHLUT N KA (SR [0 itk 57 71.84 | Wit
(004) .7 & B 2% Bt (1202Z2) \ 7y B 3 (04)Er b N\ 7 08 A 2 B F 2 Q¥r*rxrkrk**QDT 92.70 | Wit
(004) L7 &5 H 2 o (1202Z5) i 3778 s 3 (O5)E 4 Xl 55 it R 2 Ral 3 2.y G52 ***HxHIX*QDI 92.10 fij -

-5 73

(004) -7 & B 2 i (1202Z5) T b7 & e 1 (03)7H4 2 E AT WA BRIETE 4Q**x*xrrrrargDg 70.90 | it
(004) T 75 & B 2= Bt (1202Z5) i b7 8 B (02)%7 k% 5 R e E A HE)NE 1 3Q****xHrRIQA 84.62 | Wit
(004) T 75 & F 2 Bt (1202Z5) i b8 B (03)7H 2 #HAT RWIT BW 14 Qg8 87.12 | Wit
(004) -7 & B 2 i (1202Z5) i 7 8 & 3 (03)7H 2 #HAT RWIT FiETE 5 Grewsrennining g 92.88 | Mt
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VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L EHCE FEUT 5 1A] 4 W55 BRAmE RH
(004) . 5 & B 2 e (1202Z5) T 48 i 2 (OB)E B R Kl 5 i AL B fAIAR QB Q*HrrrrraRX ()17 93.68 fisi -+
(004) T & B 2% Bt (1202Z5) T 48 i 2 (02)H 7 k%5 55 Re B A 7L BE: Q4 Frrrrrrrinin ()]G 94.34 | Wit
(004) -7 & B2 Bt (1202Z5) i b7y 8 9 4 3 (05)E 45 X 5 il hL e B X [0 i 07/ 88.02 | Hit
(004) .7 & B 2% Bt (1202Z5) i b7y 8 9 4 3 (02)% 7k %% 5 & e s s 7t HY 3T ieieieioe” 157 ¢ 82.88 | fit
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 3 (05)E 45 35X 5 il hL 7 ZRY 23 **xFxIIREXTAL 7850 | Wit
(004) T i & L 2 Bt (1202Z5) T 7 B 4 e 1 (05)E 44 5 1) 15 b e Ay 22 2= 3H 5K K e V)14 84.74 | Wit
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 3 (01)&mRS 5% X REH rE o) i oo SV ¥ 84.70 | Wit
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 3 (03)¥H P& AT JIT 5% pUISE S Q3O *H**F*IIREXZOL 78.94 | Wit
(004) L7 &5 7 2 o (1202Z5) i 3778 s 3 (03)¥H 2 AT A 5% X B % 5 x*kxkkkikkxx ()99 91.84 fifi
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 3 (05)E 45 5K 5 il hL e F 2 ik 1o} i /15 83.70 | #it
(004) .7 & B 2% Bt (1202Z5) i b7y 8 9 4 3 (02)% 7k %% 5 2 se s st 7t RE B2 ***xxrxrkREXQA() 82.50 | it
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 3 (03)¥H P& AT JIT 5% FEWRIR B22****rxxE*IXOGX 85.82 | Wit
(004) T 75 & B 2= Bt (1202Z5) i b7y 8 9 4 3 (03)3H B # AT AW 5T EE VK R0 ) ¢ 85.58 | Mt
(004) T 75 & B 2= Bt (1202Z5) i 7y 8 49 (ON)&ERRE 5% RAREH EX® 5QQ***xxxixining 9246 | it
(004) .7 & B 2% Bt (1202Z5) i 7y 8 49 (02)% 7k %% 5 2 se s st 7t ERF J7rrxmxmrrr5OQ 80.52 | it
(004) T & B2 Bt (1202Z5) i 7y 8 49 (05)E 45 5K 5 il hL e R2RAE J7Q*HH*FxHEXIXAZED 82.86 | Wit
(004) T & B2 Bt (1202Z5) i 7y 8 49 (05)E 45 5K 5 il hL e g7 ek Y bbbk P2 86.90 | #it
(004) L7 & B 2 e (1202Z5) i 7y 8 49 (05)E B HE KI5 i W B 28 K]0 ool 4775 85.48 | Wit
(004) .7 & B 2% Bt (1202Z5) i b7y 8 9 4 (03)¥H P& AT JIT 5% VFRETT V!l X il V7 70.11 i+
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 (03)¥H P& AT JIT 5% KB KV bbb’ W1 87.26 | Wit
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 3 (03)¥H P& AT JIT 5% REH 110 o7 X V) 83.74 | Wit
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 3 (05)E 45 5K 5 il hL e REZH 532*r¥xkxkxI*1DD3 7956 | Wit
(004) T & B2 Bt (1202Z5) i b7y 8 9 4 3 (05)E 45 5K 5 il hL e 3 ER 4 23 *H*xF*IIXEX (D3 86.66 | it
(004) L7 &5 7 2 o (1202Z5) i 3778 s 3 (03)¥H 2 AT A 5% XK 51 Qx**xxsrxrixr ()55 93.46 fij -




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L EHCE FEUT 5 1A] 4 W55 BRAmE RH
(004) T 75 & B 2= Bt (1202Z5) i b7y 8 9 4 (03)3H B # AT AW 5T Jfg B0 *x*xwxixix ()34 88.82 | Mt
(004) . 5 & B 2 e (1202Z9) i 5 {3k 7 e A 3 (03)R Iy 15 {4k 7 7 3 Fe/NER 21 Qrrmrmr4 28 72.34 | HiEA
(004) T 7 &5 B 2t (1202Z9) i At o e 5 341 (05) 4 . 55 2504 43 A 5k 42Q**rrrkrkrarQ(Q 87.50 | it
(004) .7 & B 2% Bt (1202Z9) it 5 {4t 7 (03) L w7 % 4 ik i J7rFxmrRRRARDAT 84.80 | it
(004) .7 & B 2% Bt (1202Z9) it 5 {4t 7 (02)M 4 245 5 R YR A 7/ i ool 7 82.80 | it
(004) T 5 4 B 2 (1202Z9) i At o e 5 341 (05) 4 . 55 2504 43 A FEEA 5QQ****xesrinks7 7 9140 | Wit
(004) .7 & B 2% Bt (1202Z9) it 5 {4 7 (04):R I 5 it 7 % A B J £ B 33QrHrrrrHREREX (DD 93.38 | fit
(004) .7 & B 2% Bt (1202Z9) it 5 {4 7 (04):R I 5 it 7 % A B EE 3BQ****rxrkrE*5D3 82.72 | Wit
(004) T i & L 2 Bt (120229t 15 4 W % A 2 (O ik i 4275 5 1 &iBR 1o M KV 84.18 | it
(004) .7 & B 2% Bt (1202Z9) it 5 {4 7 (04):R I 5 it 7 % A B FEFF 7/ i ook V¥ 81.08 | fit
(004) T 5 & P 2 ¢ (1202Z9)#yi 5k B 4 5 B (02) M 25 245 5 LR )i Z=17, 7% 0 ichieiaiaed V¥ 93.60 fisi -+
(004) T i & 2 Bt (120229t 15 4 W 4% A B (05) 4 1 45 2504 43 A Z=E [ (K Ui} 1) 93.12 | Wit
(004) L7 &5 7 2 o (1202Z9) i 15 it 7 4 5 2 (03) it % 4 i ZRR 4 *rH*xmkRRRX() DY 96.34 fifi
(004) T 7 &5 B 22t (1202Z9) i At o e 5 341 (05) 4 1 45 250 43 A SEE 21 QrHrrrkrERER()DE 95.10 | Mt
(004) .7 & B 2% Bt (1202Z9) it 5 {4 7 (04):R W 5 1t 7 % 7 B BB 51 fxxssrsrinix gy 9510 | #Wit
(004) T 7 & 2 Bt (120229t 5 4 W % A B (03)4H W 4% 4 il FUR 34 {rarsraraneixgq 91.94 | Wit
(004) .7 & B 2% Bt (1202Z9) it 5 {4 7 (04):R I 5 1t 7 % A B FiE 1 3QrHrHraRRREgD 79.76 | fit
(004) .7 & B 2% Bt (1202Z9) it 5 {4 7 (04):R I 5 1t 7 % A B MR 53Qr***xrkrkrkrg ] 93.10 | Wit
(004) T 7 &5 B 22t (1202Z9) i At o e 5 341 (05) 4 . 55 250 43 A FHIR 711710 iiteieiaiaatc 1o 94.60 | it
(004) T 5 & P 2 ¢ (1202Z9)4yi 5 1k B 4t 5 B (02) M 25 245 5 L )i EEF IR QA QrHerrrrRREX ()] 86.02 fisi -+
(004) .7 & B 2% Bt (1202Z9) it 5 {4 7 (02)M 4 245 5 R YR fKar 4 2*r*xxxkrkxixgOQ 81.46 | fit
(004) .7 & B 2% Bt (1202Z9) it 5 {4 7 (04):R I 5 it 7 % A B B RR K110 i G ¥ 83.54 | Wit
(004) T & 2 2 Bt (1202Z9) i 15 it o7 4 5 2 (03) it % 4 i REHE P2 0 eeiobeiadobederc ¥ & 91.94 fifi

w1525 B9




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE FEUT 5 1A] w4 W55 BRAmE RH
(005) [H [ 5 2% (020206)[H b5 1 5 2% (01)[E b5 5 # iR SR "R 5QQ****xxrkrkxgny 88.45 | Hi#HA
(005)E R 2 (020206) [E fr 52 5 (01) [ B 57 & B8 5 R R 5 qrxxxxxrxx390) 85.23 fisi -+
(005) H bR 2B (020206) [ x5 5 % (02)Ik 55 A 7 5 &R Bk E Q3QF**rHEFARISDAD 85.35 | Wit
(005) [ s i 2Bt (020206)[F Fr 7 5 2 (01)[E bR 57 & B 5 EUR BTBE R 13Q**H*x*HA*IEXGRD 85.93 fij -
(005) H b 2= B (020206) [ [ 7 5 5 (02)k %5 R 5 5 &R ik Z={E 5 7/ I bbbt V. V| 83.28 | Wit
(005) [H [ i 2% (020206)[H b5 1 5 2% (02)/1k%5 &R & 5 4Rl 1% 23 (10 bbb 77> 4 84.55 | it
(005) H bR 2B (020206)H r 51 5 % (01)Elbr 52 5 B2 5 UK GRA 43QF*rmirrmAr 4 X 79.93 | #Wit
(005) H bR 2B (020206)H x5 5 % (02)k 55 A 7 5 &Rl I R E 43 FrmrrREIARAXGAD 8465 | Wit
(005)E R 2 (020206) [E fr 52 5 (01) [ P 57 5 B8 5 R 5% B20***********+52Q 86.83 fisi -+
(005) [H [ i 2% (020206)[H b5 1 5 2% (02)/1k%5 &R & 5 4Rl 1% £ JEl i 5Q***wkkskikxg (G 83.90 | fijit
(005)E R 2 (020206) [E fr 52 5 (01) [ P 57 5 B8 5 R R K% {0 oot O D¢ 81.88 fisi -+
(005) [ b i 24 B (020206)[H b5 1 5 2% (01)[E b2 5 F 6 S5k FE® 5 Qr**sssrkring g 85.60 | Mt
(005) [H [ i 2% (020206)[H b5 1 5 2% (03) X 3 [ 71| 5 A BRI EEEY)A 51 *ersssrining 39 84.00 | it
(005) H bR 2B (020206)H x5 5 % (02)Ik 55 A 5 5 &R F A §1Q***x*rrxixx (D7 87.30 | Hit
(005) H bR 2B (020206)H x5 5 % (04)—r—i 5 H % 5 A5 X T 7/ [0 bbb 1o 84.05 | Wit
(005) [H [ i 2% (020206)[H b5 1 5 2% (02)/1k%5 &R & 5 4R 1% R 4 Qrrrreririnix()D5 83.70 | Wit
(005)E R 2 (020206)[F Fr 7 5 2 (04)—m—it 5 BT il X =R i 53Qx**xskrnsixrgq 84.73 fifi 4
(005)E R 2 (020206) [E fr 52 5 (01) [ P 57 & B8 5 R ] TE ik B53**xHrkRRIAAGAL 86.35 fisi+
(005) = B i 24P (020206)[H b5 1 5 2% (01)E b2 5 F 16 S s VIR 2 Q¥r*rkrkRRExT 1Q 88.08 | Mt
(005) [H [ i 2% (020206)[H b5 1 5 2% (01)[E b5 5 # e S EUR FEE K7/ Do To 7 83.88 | Mt
(005)E R 2 (020206)[F Fr 7 5 2 (04)—r—it 5 H T il X 923 o3 I eieiaiedobaiadeC Y. (¢! 83.15 fifi
(005) [H [ i 2% (020206)[H b5 1 5 2% (03) X 3 [ 71| 5 AR 2 Ui KER UV kbbb 67> 4 81.55 | fit
(005) [ b i 24 B (020206)[H b5 1 5 2% (01)[E b5 5 # iR SR KEMN 2 Q62X 86.35 | it
(005)E R 2 (020206) [# fr 52 5 (01) [ P 57 & B8 5 R KT S ioiciobaieiadel 4° 87.48 fisi -+

1426 59




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE FEUT 5 1A] w4 W55 RS R
(005) [ b i 24 B (020206)[H b5 1 5 2% (01)[HE b2 5 F e S &5 QB Q**rkrkrinix()Dg 87.23 | Wit
(005)E R 2 (025400) [ Fr i 45 (02)r %5 4 &y 5 & Bl T LS K710 bbb O N 86.18 fifi -+
(005) H bR 2B (025400) = F 75 45 (05)—r—i% 5 H % 5 k4R X BR&1a 43QF*rrrrrERRix (A 81.48 | Wit
(005) [H [ i 2% (025400) [H B i %% (03)E b3 A 77 %8 A 2 TXHE 4 qrreririninixgly 85.10 | #it
(005) H bR 2B (025400) = F 75 45 (02)Ik 55 A 7 5 &R i (5 (0o -3 D¢ 84.83 | Wit
(005) [H [ i 2% (025400) [H B i %% (01) [ 2 =] E Brib, A 5 3*ersrsrkninnon 83.33 | Wit
(005)E R 2 (025400) [ b 45 (05)—m—i% 5 H A Zili X BTF 23 rrrkxrnriix())g 83.60 fifi
(005)E R 2 (025400) [ Fr i 45 (02)r %5 4 &y 5 & Bl T %45 B2 ***xx¥xrkriglg 81.58 fisi -+
(005) H bR 2B (025400) = F 75 45 (01)rh [ 2 =] [EBrik, B 22 *rxrkxRRIERGD 83.70 | Wit
(005)E R 2 (025400) [ Fr i 45 (01)h [ 2 =] E Brik HFIF 33QFHrHrrHaRAAAGAD 85.85 fisi -+
(005) [H [ i 2% (025400) [H B i %% (03) [ b3 A 7y 98 A 2 WK 13Q¥xxxxsxrarx()DQ 82.38 | fit
(005) H bR 2B (025400) = Fx 75 45 (02)Ik 55 A 5 5 &R &hT 21 QF*rxxFxRRRED(T 87.58 | Wit
(005) H bR 2B (025400) = Fx 75 45 (01)rh [ 2 =] [EBrik, ZH 2 QF*rrrrrRARx 51 G 84.48 | Wit
(005)E R 2 (025400) [ Fr i 45 (01)h [ 2 =] E Brik Z= ik B 5 q**xssrisrixx () 83.90 fisi -+
(005)E R 2 (025400) [ Fr i 45 (02)r %5 4 & 5 Bl T T 3 lioiiobdoada 0 /¥ 85.38 fisi -+
(005)E R 2 (025400)F b 45 (05)—m—i% 5 H T Zili X HEE 34Qxr*xrrrrrixrngg 84.63 fifi 4
(005)E R 2 (025400) [ Fr i 45 (05)—iff — ik 5 H H ™ & il X i3 23(Q***+*xrkxI*T OQ 83.85 fisi+
(005)E R 2 (025400)F b 45 (01 [ 2~ =] [ btk RAtE QA Qrrr*rmRRRExD 4 G 86.48 fifi 4
(005) H br 2B (025400) = Fx 75 45 (02)Ik 55 A 5 5 &R RER SR ool I3 82.88 | Wit
(005)E R 2 (025400) [ Fr i 45 (05)—iff — ik 5 H H ™ & il X IMER 2] QrHrrkrRExREx (DG 85.90 fisi -+
(005) [ b i 24 B (025400) [H B i %% (05)—ir—i% 5 H 3 5 ilie X IEEE 29 QFrrrrEx(043 87.28 | fiit:
(005) H b 2B (025400) = F 75 45 (04) XI5k [H 1) 5 PR A Frin B J=:3i=pUll QBQ¥*rxrkxaRE* (D 86.93 | Wit
(005) H bR 2B (025400) = F 75 45 (05)—r—i% 5 H % 5 k4R X ITRE 5 Q*r*rsssxsergoy 85.28 | Wit
(005) H bR 2B (025400) = F 75 45 (05)—r—i% 5 H % 5 k4R X - 14w xwxnsrinix )44 84.73 | Wit

w427 59




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE FEUT 5 1A] w4 W55 RS R
(005)E R 2 (025400)F b 45 (02)r %5 4 &y 5 & Bl T EN=1 V0% Dbl b5 84.53 fifi
(005) H bR 2B (025400) = Fx 75 45 (01)rh [ 2 =] EBrik, I JE e 5 Q*x**ssssxsxxn() 89.60 | Wit
(005) H bR 2B (025400) = F 75 45 (05)—r—i% 5 H % 5 k4R X =L 1510 i 07X 83.35 | Wit
(005) [H [ i 2% (025400) [H B i %% (03)E b3 A 77 %8 A 2 BIE R 5 *xwesasinresgo() 87.15 | Wit
(005) H bR 2B (025400) = F 75 45 (02)Ik 55 A 7 5 &R WK QB0 *r*rrxrarixT () 81.70 | #Wit
(005)E R 2 (025400) [ Fr i 45 (01)h [E 2 =] E Brik ik QA QrHersrmiaREx (DD 84.13 fisi -+
(005)E R 2 (025400) [ Fr i 45 (01)h [E 2 =] E Brik R B4 *xrrERRIARGAG 80.43 fisi -+
(005)E R 2 (025400) [ Fr i 45 (05)—iff — ik 5 H H % & ik X Bk B 5QQ**********x%24 5 89.65 fisi -+
(005)E R 2 (025400) [ Fr i 45 (02)r %5 4 &y 5 & Bl T Y FER 51 3**x¥xxixririqQQ 84.98 fisi -+
(005)E R 2 (025400) [ Fr i 45 (05)—iff — ik 5 H H % & il X TRERE B5Q*****r*xrkxx()DQ 83.30 fisi -+
(005) [H [ i 2% (025400) [H B i %% (03) [ b A 77 %% 5 B TR 513 =526 83.70 | it
(005) [H [ i 2% (025400) [H B i %% (04) X B [H 71| 5 AR iR TRFEH 2] FersrnrraringOQg 82.33 | Wit
(005)E R 2 (025400) [ b 45 (02)R %5 A & 5 &b ik FRIEIR P2 [ bbbt 215 80.03 fifi
(005) [H [ i 2% (025400) [H B i %% (01) [ 2 =] E Brib, KEFR K]0 bbbl 7 7) 87.98 | fijit
(005) H bR 2B (025400) = Fx 75 45 (03) bR A 7y 75 2 S K]0 ebateieeiatek 82.43 | Wit
(005) [H [ i 2% (025400) [H B i %% (01) [ 2 =] E Brib, AETE Q2 *r*xwxFAREXD DD 82.70 | Wit
(005)E R 2 (1202Z1) [ Br 7 45 (02) 1 [H 2 =] H Brik wZh 5 Q*x*xrsxrixx()5Q 93.10 | HE4
(005) ] b i Bt (120221 Fr i 45 (02)i% |E 4 il 5 04 55 LHE 35(Q*HHHHHTTO62 86.58 i
(005)E R 2 (1202Z1) [ B 7 45 (03) 1 [H 2 =] H Prit VW 3 QFrrrarnarinrgl 3 85.63 fisi -+
(005) = B i 24P (1202Z1) & Fr i 45 (01)[E B Ay % 5 A 1l 15 5] *xsesarinrergoq 80.63 | it

w1428 59




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

TR AL SIS 4 EAF ST R S
SR (020208)4i i+ (02)& b4t it ZRK 13Q***HHrr (037 82.47 | Witk
(0064511 % (020208)%; i ¢ (01)Z M2 kit P43 Aok ki 7760 | Wit
(006)%: i1kt (020208)%; i1 (02)& k&t it B o025 | 8337 | Mt
(006)%: % (020200) % K124 5 (O1) & 4B T arprera2ze | 8260 | Bk
(006)%: i3I (020209) ¥ fit £ i 2 (02) b EELEJF 1 15 7 1 FIELE S3grr324 | 79.60 | ik
(006)%: % (020200) % K124 5 (O1) & 4B S satTTTO68 | 8320 | Wk
(008)% H2 % (020209)#r i £ f # (02) 203 Bl it 5 ] Yk 51 Qg 8647 | ik
(006)%: i3I (020209) ¥ fit £ i 2 (02) b EELEJF 1 15 7 1 L 350520 | 81.67 | ik
(006) i (020209) B k44 5% (01) b ) b e S7oTTTTTTS2X | 8564 | b
(006)5c i 25 (0202082 J Kt B (00)RIX 43 97 Lk serTTASs | 6240 | WLE
(006)5c i 25 (0202082 J Kt B (00)RIX 43 97 ETS bggrmr628 | 8557 | Wit
Gii¥hi (025200)81 il G it (02) K 4 2B 1807625 | 8833 | Bk
Gii¥hi (025200)81 il G it (02) K 4 Lk famT039 | 8014 | Bk

(006)45 b7 (0252007 1411 (02) K et /b ki) om0 | 8458 | R
(006)%: it 2% (025200) 1 Fl G i (02) K Hi 43 Bt PR ApOrmrTE23 | 8277 | Wik
(006)%: it 2% (025200) 1 Fl G i (02) K Hi 43 Bt PRICH JaprmmT920 | 8980 | Wit
(006) i (025200)51 115 it (03) e K 43 b7 A SooTTTTTT218 | 8497 | Wik
(006)%: i1 (025200):Fi % (1)t it Fbes 620043 | 8580 | WLk
(006)%: 2 5 (025200) i /11 5 1 (03) el A HR 4 T B SsOTTTTTTTIUAX | 8558 | Wik
(006)45 b7 (0252007 1411 (02) K et /b ke laQTTTTTe22 | 8443 | WUE
(006)%: i1kt (025200)3 FH % i1 (02) KL 43 b i ot sromm oM | 7160 | Wth
(006)%: % (025200)81 il G it (01 it i saor29 | 8847 | Wk
(006)%: i1kt (025200)3 FH % i1 (02) KL 43 b BUEAS soorm 015 | 8547 | Wtk
ik 2% (025200)% il i i (02) KKt 53 b B 3p2rrrrr032 | 8540 | Wik




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE 3 | 4 KU F T 9] w4 S5 RS R

(006) 45 1245 (025200) % F 45 i (02) K Hehis 43 A B3rHrrrrarg) 74.33 | it
(006)%; it (025200) 5% /il S5 (02) KHd 53 i FEH= 412066 91.23 | Wt
(006) 45 1245 (025200)%; F 45 i (02) K Hehis 43 28 130 ***rrrr25 80.27 | Wil
(008)5e 11257 (025200) R FI 11 (02) KHHR A 2R 131 eeemenzqn | 7967 | Wik
6) 4 (025200)% A 4k it (02) K 4y Hi WK 622422 87.90 | Wit
(008)5e 11257 (025200) R FI 11 (02) KHHR A =T 430* Q| 8623 | ik
(006)%: 11215 (025200)% il 45 it (02) KK 4047 2 /N e 3BQ**H**xrIRR** ()44 63.40 fii+-
(006)%; 11225 (025200 A% it (02) KHLHiE 43 H7 BB 452wrrig04 | 8370 | Wik
(008)5i 11257 (025200) R FI 11 (02) KHHR A WAL 34oremeemeeneng7s | 9020 | ik
(008)5i 11257 (025200) R FI 11 (02) KHHR A T 350* o022 | 89.83 | i
(008)4i 2% (025200)1% FI 5 it (02) KEHR A7 5t 510086 74.80 | it
Yiit2207 (025200 A% it (02) KHLHiE 43 H7 BEH 32121 88.10 | Wit
it (025200)1% FI 5 it (02) KEHR A7 iiel 500**+*+**065 86.80 | Mt
(008)4i 2% (025200)1% FI 5 it (01) &Mt HEH 371345 83.67 | Wit
(006)4i it 2B (025200)R; F 4t it (03) 4 il K HcH 43 7 FEA B rrrrrraaig 14 68.93 | Wil
(006)%; it 215 (025200) 5 fi 4 i (02) K HHE 75 b AT Py 7067 | it
(006)%5 24 (025200) 5 F 4t it (01)&Rh gt it i 1 5Q**HrsrErERG4() 87.43 | Wit
(008)5i 11257 (025200) R FI 11 (02) KHHR A AR 500****+rrrgg0 | 86.23 | Wit
(008)5i 11257 (025200) R FI 11 (02) KHHR A FEW 120" eeer0gX | 88.76 | ik
(008)4i 2% (025200)1% FI 5 it (01) &Mt EXE 130 624 89.70 | it
(008)5e 11257 (025200) R FI 11 (02) KHHR A FHB g127rmengo7 | 78.64 | Bk
(006)501 25 (025200)m Fi % i1 (01) 4Rt EHH 350 *Hrr R0 16 7327 | it
(008)4i 2% (025200)1: Fi 5 it (02) KEHR A7 EXE 511225 8273 | Wit
(006)45 1125 (025200)3 H 4t it (02) K& 7 #r T S QrHrHmTEQ42 73.93 b




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EHCE FEUT 5 1A] w4 W55 BRAmE RH

(008)4t 11 2% B (025200)3; F 4t it (02) K E 4 73 #r FEEF 1 2Q¥*H*rRRREI()GT 70.93 | Wit
(008)%t 112 B (025200)3; F 4t it (01)& RS it R €ES 23(*r*rkHRERRXGIN 85.23 | Mt
(006)4t it (025200)3 H 4t it (01)&:fhg it S QYBHH*FH*FHERIIXTAN 86.00 fisi -+
(006)4t it (025200)1 F 4t it (02) K& 7 #r EEPABR 5 qr*xariarixrgQQ 88.57 fisi -+
(008)%t 112 B (025200)i F Gi it (0N &fZ it BEE VN bbby 477 65.67 | it
(006)%i it e (025200))% F 4 it (O EzE MR 13Q**rHxskrkRR* 5T 84.44 | Wit
(006)4t it (025200)3 H 4t it (02) R #a 40 #ir HEtE 5 3rrxsarianixx ()0 87.60 fisi -+
(008)%t 112 B (025200)i F Gi it (0N &fZ it TR 4 QFr*rkrirrRR (DN 61.60 | fit
(008)%t 112 B (025200)3; F 4t it (01)&RhZ it F 2 Q¥r*rkrkrRExD DG 62.20 | it
(006)45 it B (025200)% Fl i it (O EzE KRR K]0 oo Y £ 89.47 | Wit
(006)45 it B (025200)i F Gi it (02) KHHRE 73 B B&aeE KToK Ik Yo% 85.63 | it
(025200) 3 Fl 45 it (02) K& 4 73 #r KiE 14QFxrxxsxrarxgOQ 88.17 | Wit

(025200) 3 Fl 45 it (0N &fZ it TR 4 Qrrrreririnix AT 82.07 | Wit

(006)%i it e (025200))% F 4 it (O EzE KB X [0 bbb o) 4 8520 | Hit
(006)4t it (025200)3 H 4t it (02) R #a 40 #ir KFHE 13Q****¥**xxrE*()G6 77.33 fisi -+
(006)4t it (025200)3 H 4t it (02) R #a 40 #ir FR IR 33QF*rHxrrrErAGA() 87.24 fisi+
(008)%t 112 B (025200)3; 4t it (01)&fhZ it IR ZZQrrerrraririxgAQ 9144 | Wit
(006)%i it e (025200))% F 4 it (01)&mh it F e QBQ**+*xwxsaRExf DD 83.83 | Wit
(006)4t it (025200)3 H 4t it (02) R #a 40 #ir JE % 52(*****x¥xrkxx(44 88.83 fisi+
(008)%t 112 B (025200)3; 4t it (02) K HH 43 br A& L 4 Frersrininin()q3 82.07 | Wit
(006)%i it e (071400)4¢it2% (00) A X 43 Wt 52 J7 [+ EEET 4 QF*r*rnrrarixgpG 82.57 | Wit
(008)%t 112 B (071400)%; 112 (00)ANIX 48T 5% 77 I b5y B5Q***rxrxrkrix5()3 7747 | Wit
(006)%i it e (071400)4¢it2% (00)AS X 20 78 7 11 HER 5 3rxramknianng3q 85.83 | Hit
-2 (071400)%; 112 (00)ANIX 43 8T 53 77 [F) 2= (g 3p2x*rxrkrkrixg (L 83.44 | Wit




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(006)4t it (071400)4; 112 (00O) AN X 3Bt 95 77 171 TR QA Qr**+*xrExrE*GHQ) 82.60 fisi -+
(006)4t it (071400)4; 112 (0O) AN X 3Bt 9 77 171 4% 14Qr*xsxxsxrix ()94 85.97 fisi -+
(006)4t it (071400)4; 112 (00) AN X 3 Bt 9 77 171 Z= R 32 *r*xr*xFE*H(D1 84.30 fisi -+
(006)4t it (071400)4; 112 (00) AN X 3 Bt 9 77 171 5—5 5 3Fxxxxsrrirr 4 X 85.83 fisi -+
(006)45 it b (071400)4;it2% (00) A X 43 Wt 52 J7 [+ FEE 5 QrersskrkringqQ 78.47 | Wit
(006)45 it b (071400)4;it2% (00) A X 43 Wt 52 J7 [+ FFH 1 3Q¥rHrHEREIEIEQDA 81.23 | Hit
(006)4t it (071400)4; 112 (0O) AN X 3Bt 95 77 171 REFH K7/ Relbieicbaioiada * oY 82.50 fisi -+
(006)45 it b (071400)4;it2% (00) A X 43 Wt 52 J7 [+ B 5 q*xwesarinres)Q 68.67 | Mt
(006)4t it (071400)4; 112 (0O) AN X 3Bt 95 77 171 BLR 5QQ********+*xx02() 85.57 fisi -+
(006)4t it (071400)4; 112 (0O) AN X 3Bt 95 77 171 KEH 13Q***xxxxkxxkx 397 82.20 fisi -+
(006)4t it (071400)4; 112 (0O) AN X 3Bt 95 77 171 KENER SR K ieioieiohaioiede” Y 68.73 fisi -+

5 32

H59 7T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L EHCE FEUT 5 1A] 4 W55 BRAmE RH
(007 [H < bt 75 P (020204)4: il 2% (Y EEEs Ty K10V Ao 0 /-7 4 80.27 fji+
(007 [5 = bt 75 P (020204)=fih =~ (01 E AT 5 ) 4 fil BZET 4 Frmrrramirix ()5 76.90 | Wit
(007 [5 = bt 75 P (020204)4: il 2% (08) &R, 677 51 *xwesarinres()() 86.08 fji+
(007) 4 [E 4> b A 7% Bt (020204t (0N ZE AT 5 2 7 4= L B1Q***rxreririxggQ 79.48 | Wit
(007 [E < bt 55 P (020204)<=fih =~ (01 FE AT 5 ) 4 fil KB 2 QF*HxxFxRRREX (D5 80.68 | it
(007 [E < bt 55 P (020204)<=fih =~ (01 FE AT 5 ) 4 fil Tk K710 ltateiobatate” & D 4 7950 | HWit
(007) 4 [E 4> b A 7% Bt (020204)<=fih =~ (02) 1% MEUE 5 %M ¥E2 Z7QxxrxraririxgO7 7848 | Wit
(007 [E < bt 55 P (020204t (06) &Rl FHL =R K & i V1 84.30 fifit
(007 [E < bt 55 P (020204)<=fih =~ (05) & Flt X\ [5; 5 4x 22 4 ZHE 5 3*r¥xsxririxiggy 83.04 | Wit
(007 [E < bt 55 P (020204)<=fih =~ (O1)E AT 5 ) 4 fil Z= 14Qr*rrxsxminix DAL 84.73 | Wit
(007 [E < bt 55 P (020204)<=fih =~ (O1)E AT 5 ) 4 fil Z=H H 5 Q***xxrixixx()Dg 7540 | Wit
(007 [E < bt 55 P (020204)<=fih =~ (01 E AT 5 ) 4 fil XI55 B22**¥xxkkXIIAAR 81.97 | Wit
(007 [E < bt 55 P (020204)<=fih = (01 E AT 5 ) 4 fil ZW 7/ 10 ikl ) ¢ 81.70 | #Wit
(007 [E < bt 55 P (020204)4: il 2% (08) &R, %% Q4 Ferrrrrarix()]() 80.23 fji+
(007 [E < bt 55 P (020204)<=fih =~ (O1)E AT 5 vl 4 fil % B e B1Q******rixxrgQ 85.38 | Wit
(007) 4 [E 4> b 7% Bt (020204)=fih =~ (02) %% T BUR 5 2 Wi T igE S B1Q***xxxeririx()D() 82.03 | Wit
(007 [E < bt 55 P (020204t (06) &Rl FHL W REFR 5 Q*rHxxrixirrgqg 83.25 | Hit
(007 [E < bt 55 P (020204)=fih =~ (O1)E AT 5 vl 4 fil JIFEER 51Q*****xrix**gD6 83.18 | Hit
(007 ) [E] 4 AT 73 i (020204)=fih =~ (0N A5 2 7] &b FEM 4QrHrrrirkRRRGDY 78.00 | it
(007 [H <= bt 75 B (020204)=fih =~ (O1)E AT 5 vl 4 fil T¥EE 15Q******RAXE*QDD 80.64 | Wit
(007 ) [E] 4 AT 73 i (020204)<=fih =~ (0N A5 2 7] &b wERE K4 Rciaieiadaic 10| 78.30 | il
(007)H [= 4 Al 71 B (020204) 4 fiti 2 (04) &/l TF2 5 % = e R 3E2r*HraReRI*521 90.40 | Mtk
(007 [E < bt 55 P (020204)4: il 2% (03)mik AT & s B MR 51Q*****xrixixrgqQ 78.00 | HWit
(007 [5 = bt 75 P (020204t (02) 02 MBUK 5 2R Wt 2 33QrrHrrHRRIREAG 86.44 fifit

71433 B9




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L KRR FEUT 5 1A] 4 IRGEERT BRAmE RH
(007 [H < bt 75 P (020204)=fih =~ (05) &l X\ [5; 5 4x 22 4 )iid 51Q*****xrixixx(035 8257 | Wit
(007 [5 = bt 75 P (020204)=fih =~ (01 E AT 5 ) 4 fil AR X i ieiaieieoiaata S0 8250 | Hit
(007 [5 = bt 75 P (020204)<=fih =~ (01 E AT 5 ) 4 fil KRR 352*x¥xkxHEXIXXO1 7 7193 | #Wit
(007 [5 = bt 75 P (020204)<=fih =~ (01 E AT 5 ) 4 fil H AR 2 QF*rxrrxmRrixg ) 82.87 | Wit

1934 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EHCE KU F T 9] w4 W55 RS R
(020207)55 h 4 i (02)55 3k 1557 hEUR Bt 32 FHxarariar()q() 87.77 fisi -+
(020207)55 h 4 i (01353 hThim e 5BUR B Z1e ikl sTo X 85.83 fisi -+
(0202J4) A LA THHIFE SBUE | (02)ReIRATT SHIRBUR A V% s bbbl SN [ 91.27 | HEEA
(0202J4) A A TEHIE SBUE | (03) LTS LABUR EEREH 4 r*xxwrrkxrix ()1 89.43 fifit
(0202J4) A LA FFHIE SEUE | (02)A LA FEUR W 14Q*rrrxraxiix( 19 87.47 fij -
(120401)47 B B (03)Hh 7 BURT VA BRBHF 52 PR 5 Qrxrrmkriarirzgq 91.23 | Wit
(12040147 BUE L (04) > FEER TN I B HAH HL BERR 5 Zrrrrrkaninxigg3 86.57 fij -
(12040147 BUE L (04) > FEER TN I B HAH HL HHEM 53Q***xrsxxsixrQ G 78.97 fij -
(12040147 BUE L (04) A~ FEER TN I TR HAH HL /NG (O} [0 bbbl £15' 94.73 fij -
(12040147 BUiE L (04) A~ FEER TN I TR HAH HL ZEWH 522x**xxkxxikxx89Q 77.50 fij -
(12040147 BUiE L (04) A~ FEER TN I TR HAH HL ZERE 5 A rkxrkarinxi g 83.07 fij -
(12040147 BUiE L (04) A~ FEER TN I TR HAH HL BEEE 5] Qx**xrsrxsixrgng 84.20 fij -
(120401)47 B 1 (05) AR %5 H 2 IR F JEHH 5 Q*r*xxrixixrg() 8353 | Wit
(120401)fTBUiE 1 (05) AL 55 5t o> R JitEH 5 Qr*xrsxssriax (¥ 88.00 fisi -+
(12040147 BUiE L (04) A~ FEER TN I TR HAH HL AR 2D(¥****FIRRIXYAD 87.70 fij -
(120402)4t 22 B52% 5 TAESL | (05)fidFE AR 5545 £ AR 5 Qresssrkrix4) 84.63 | Mit
i
(120402)# %5 TAFE | (02)E7 fRFE ] Z=H 5 3rrxwsnsarixs Gl ) 82.10 fisi -t
B
(120403)# 5 & 5 (03) S5 A A PF U LALES QA HHx*FxRERIEDDOQ 92.53 fisi -+
(120404 )t 2> {7 p (04) 2> RIS J 4 7 “1h B1Q*****x*xrxxi78g 88.47 fisi -+
(120404) 4t 2> fp= (02)FRZ R 5B R ALK X5 522 xxxmerEix506 82.80 | it
(120404) 4t 2> fp= (03) 22 7 {5 o 5 fe e pu)5s8iz 2 QF*rwrmrEaRExY DT 81.73 fisi -+
(120404 )t 2> {7 p (04) 2> ORI i 4 7 X FE R 13Q*F**¥*****EXGDG 83.80 fisi -+
(120404 )t 2> {7 p (O H ARG E 18 5 EUR Bz 33QF*rH*HFxHEXH( DG 85.07 fisi -+




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

RAFB RECE RS TT [ 4 5 Hildgst R4

(120404 )4 2> fR F (04) 3 2> (- F i 4 45 31 Y

1436 59



VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L EHCE FEUT 5 1A] 4 W55 BRAmE RH
(010)2 it 245 (120201) 212 (01)IA 55 2= it iR 5 5L 5% BT 532**xwwrkxrixx ()98 85.85 fisi -+
(010) 2=t B (120201)&it2% (01 5521t # iR 55055 IR 5OQ*****xxkxsxr5q X 90.43 | Wit
(010)2x 1t 2%B% (120201)&xit2% (0N 21t IR 550 5% Z e 5 qrxsssssmiringq X 85.70 | #it
(010) 2=t B (120201)&it2% (01 5521t BB 55045 2R 5 5 3¥x¥xrkriarar (D] 88.70 | Hit
(010) 2=t B (120201)&it2% (02)F B 1ML 5505 XM N i ieiaieiolobnde” V) 85.17 | Wit
(010) 2=t B (120201)&it2% (02)F B 1ML 5505 X EE3H 13QF*H**xRAXE*ZDT 83.74 | Wit
(010) 2=t B (120201)&it2% (02)F B i HIR 5505 RFM 13QF*H**FxFIXEX()3D 84.48 | Wit
(010)x it (120201)&it2% (03) RHHE =B 5 5 5% HH S 5 5 Q*rrrrsrsrses]3 85.30 | Wit
(010)x it (120201)&it2% (1) 5521t BB 55055 FF 4BQ**+*rrrrarixpRg 91.62 | Wit
(010)x 11245 (120201)&it2% (1) 5521t BB 55055 7 RIS 7/ I it 754 86.60 | Wit
(010)2x it 25 (120201)2it2% (O2)E 2T IR 5 5L 5% RFH 32 *r*xr*xrkrr51 g 87.08 fisi -+
(010) 2=t (120201)&it2% (1) 5521t BB 55055 H BT 52(*****xxxxxx82() 86.60 | it
(010)x 11245 (120201)&it2% (1) 5521t BB 55055 B g Y S iieiobiaiodl % D¢ 86.06 | Wit
(010) 2=t (120201)&it2% (1) 5521t BB 55055 R 2B B 2****xrkxIXIEZD 84.04 | Wit
(010)£x 11287 (120201)&xit2% (03) KEH & 1H it 550 4% JABkE 43 *reririninin] DQ 85.77 | Wit
(010)£x it 2417 (1202264 55 & (O & H e 5 E A Hw =S8R | ™ 2 Q528 80.80 | ELff4:
(010)2x it 25 (1202Z6)IM 4% & H (03) 5 Hellt 45 HR 18 5 5 5% BER /% bbb C ¥/ 86.17 fisi -+
(010) 2=t (1202Z6) % & 3 (01)FE AT A 55 3k 55k 5% xR EAE oK VAo 117) ¢ 85.36 | Wit
(010)x 11245 (1202Z6) % & 3 (02) 2w M 45 BB 5 51 4% =25t 7/ I bbbl 7/ V| 82.20 | Wit
(010)2x it 25 (1202Z6)IM 4% & H (02) A =] F 45 B i85 5 5% %O Hy 3EQ**r**rHxrxx308 86.50 fisi+
(010)x it (1202Z6) % & 3 (02) 2] M 45 BB 5 510 4% FEB ) B bbb 0 o) 86.13 | Wit
(010) 2=t B (1202Z6) % & 3 (01)FE AT A 55 3k 55k 5% REFE UK ittt 1 84.16 | Wit
(010) 2=t B (1202Z6) % & 3 (01)FE AT A 55 3k 55k 5% DR K0 ebateiobobatel 4210 85.30 | Wit
(010) 2=t B (1202Z6) % & 3 (02) 7] 45 B i 5 51 45 ki A 22 **xH*IHXEX] DG 85.70 | Wit

w1437 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(010)2x 1t 2%B% (1202Z6)4 5545 1 (02) A ) I 55 B i 5 52 5% TKIRFH 20 [0 il % D¢ 84.90 | Wit
(010)2x 1t 2%B% (1202Z6)4 5545 1 (02) A ) I 55 B i 5 52 5% EhES B SR [0 iieiehioida 0157 4 87.50 | #Wit
(010)2x 1t 2%B% (1202Z7)H it (03) KR HHE # 1T B 552 5% gl VN bbb 421 83.17 | Wit
(010)2x 1t 2%B% (1202Z7)H it (OB o B 18 5 52 4% X R ER 14Qr*xwrserinrx)gX 81.90 | it
(010) 5 T+ 5B (1202Z7) i 112 (O1)BUM T HI 5 505 PRI Qe (22 84.40 | WL
(010)x it (1202Z7)% i+ 2y 5 E IR 5545 | REM VY10 il s10) ¢ 83.03 | Wit
(010)£x 11287 (125300)%> it (O1)Eed 23 M7 51 5% v 55 SSEIN 2 Q¥r*rkrERERExDD() 8153 | Wit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 R Z2QrHrwRkRkRER (DY 83.50 | Hit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 I JEL S et [ 57 82.70 | Wit
(010)2x it 25 (125300)4> 1t (01 & Hia 73 #1528 1k 5 PRIZEs 51 Qx**xrssxsixsnn3 80.00 fifi
(010)2x it 25 (125300)4> 1t (01 & Hia 73 #1528 1k 5 o325 33 xrkrmkRRIAXK(OAT 87.67 fifi
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 R e K1V et 7/ ¥ 80.57 | Wit
(010)2 2P (125300)4> 1t (01 & Hia 73 #1528 1k 5 XRI51E 5 rwxmianiins()) 83.97 fifi
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 GEAH 1 3Q¥rHrHrRERROGX 82.73 | Wit
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 uRbes 2 Q¥*rkrkRkRixgDT 81.60 | Hit
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 FRAT 2R P2 [0 bbb % 82.77 | Wit
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 ik iE 43 *rxrkrkniningOQ 81.40 | Wit
(010)£x 11287 (125300)%> it (O1)Eed 23 M7 51 5% v 55 i YN BYQrrerrrkakain()]3 88.24 | Wit
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 e IE 53 rewsskrkrixgAL 81.67 | Wit
(010)2x 1t 2%B% (125300)2 it (O BHE 2 50 45k o [=3)7) 4 QF*rkririaRx()D 82.73 | Wit
(010)= 1t P (125300)= it (O1)Edh 73 A1 5 0 55 e 3 A& QBQ*F*H**FRIEXGDE 85.13 fisi -+
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 W E 3]0 et V15 84.00 | Hit
(010)2x it 25 (125300)4> 1t (01 & Hia 73 #1528 1k 5 B 8 G52 **F*xrkkRRXRDDE 86.70 fifi
(010)2x it 25 (125300)4> 1t (01 & HiE 73#1 5 W 2%tk 5 B K150 bbb 0 V(¢! 87.70 fifi

71438 B9




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(010)2 2P (125300)4> 1t (01) & HiE 73 #1528tk 5 il e K15V AiabebabiadecY [ 87.16 fifi
(010)2t2=p (125300)4> 1t (01) & HiE 73 #1528tk 5 B0 3EQ***xrHxxREx*GAT 81.00 fifi
(010)2t2=p (125300)4> 1t (01 & HiE 7341 5 W 28 1k 5 BHERNL 51 Qx**xxsrxsixx ()08 87.93 fifi
(010)2 2P (125300)4> 1t (01 & HiE 7341 5 W 28 1k 5 KLY P2 O iobeiobobdef: 7/ 4 83.80 fifi
(010)2x it 25 (125300)4> 1t (O1)Edh 73 A1 5 0 55 e 3 1EiE S 14 2xr*xwknianix g3 85.00 fisi -+
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 HER 5 Qrrewsnsnining ()4 82.26 | fit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 % HE 5 Qrresssrkningy 84.16 | Mit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 HFH® K161 bbbl & ) 81.24 | Wit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 T 33Qrrersrkrkrix()D3 86.37 | Wit
(010)2 2P (125300)4> 1t (01 & Hia 73 #1528 1k 5 EHE 5 Qx#xxssxmixrg ) 81.67 fifi
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 E¥4 43 *rwrsrininin ()G 81.03 | Wit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 R 3 rrerarkainingq() 82.60 | it
(010)& 1t 24Bx (125300) =it (01)E5d 43 Mt 50 4% e o 05 QB Q*r*rkrkRRARTAL 89.74 | it
(010)2x it 25 (125300)4> 1t (01 & Hia 73 #1528 1k 5 48 FoK P10 bbb D' 82.84 fifi
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 R SC e 1 3QHrHrEREREREY DY 81.56 | it
(010)2x it 25 (125300)4>it (01 & HiE 73 #1 5 W 28tk 5 HMER 5 3xrwsrsxmixrq gy 83.73 fifi 4
(010)2 2P (125300)4>it (O1)EiHiw 73 #1528tk 5 RESEA 2 QrrRxrRRRIEXGOT 80.57 fifi 4
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 BBV 5Q**wwwskrkrkx ()35 81.50 | it
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 A B 4 QFr*rrrkrinir 55 87.60 | it
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 Z= 3 5 qrressskrininqgg 82.63 | Mt
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 A iE 5 Qr*erersrsrsrgOy 81.20 | it
(010)2 2P (125300)4> 1t (01 & HiE 7341 5 W 28 1k 5 R 5QQ***xxsxxskxx )47 88.93 fifi
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 2R 3O ***rkrkAkxgDT 82.73 | Wit
(010)2x it 25 (125300)4> 1t (01 & HiE 73#1 5 W 2%tk 5 Z=R K P2 beeioieiobeiod D20 84.76 fifi

H59 7T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(010)x it (125300)4>it (01)F#m 43 50 5%tk 55 Z=3E0E 51 3*xrxrwrixixsn)) 88.57 fifi -+
(010)x it (125300)4>it (O1)Edh 73 A1 5 0 55 e 5 PRI% 12Q***xwwrkarix ()97 80.80 fifi -+
(010)x it (125300)4>it (01)F#m 43 50 %tk 55 wXx= KK ki VA /1 81.63 fisi -+
(010)x it (125300)4>it (01)%#m 43 50 5%tk 55  EEAN 5 Qrx*xrkriarir (D] 81.34 fisi -+
(010) 2Tt (125300) =it (01)%#m 43 50 5%tk 55 Xz 3EQ***x*rRxIERGAD 87.03 | Hit
(010) 2> it-24 P (125300)4> 1t (01)%#m 43 50 5%tk 55 X 5Q****xxxxrkrrG85 80.64 fisi -+
(010)2it24B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 X 23(**rkrERRRE (4 80.27 | Wit
(010) 2Tt (125300)= it (01)F#m 43 50 5%tk 55 pu)SE7] 5 3*xrrmkniarir ()] 86.23 | Wit
(010) 2> it-24 P (125300)4> 1t (01)F#m 43 50 5%tk 55 XN P2 [0 bbbt (X 89.10 fisi -+
(010)& 1t 24Bx (125300)4>it (O1)Eed 2 M7 51 5% e 55 X P 5 Qr*esssrkring )G 80.93 | #it
(010)2it24Bx (125300)2>1t (O1)Eed 2 M7 51 5% e 55 X1 E A Q3Q**rkrkrkREx (DY 8450 | Wit
(010)x 11245 (125300)4>it (O1)Edh 73 A1 5 0 55 e 3 i =F 21 Qr¥arrrrxIEX QDD 82.73 fisi -+
(010)£x 11287 (125300)%> it (O BHE 2 1 50 45tk o e Q3Q*r*rrrkrininTg() 80.97 | Wit
(010)x 11245 (125300)4>it (01)F#m 43 50 5%tk 55 B SN iobiobeaioodel 677 84.94 fisi -+
(010)x 11245 (125300)4>it (01)F#m 43 50 5%tk 55 Bk 7] 0 kil 074 ¢ 85.00 fisi -+
(010)£x 11287 (125300)%> it (O BHE 2 1 50 45tk o BE| BQ*****srkringag 81.60 | it
(010)x 11245 (125300)4>it (01)F#m 43 50 5%tk 55 Bk 5 Fxxxxsrrirr ()53 82.54 fisi -+
(010) & iP5 (125300)= it (O1)HHiE 73 b7 5 04 25 1k 35 Kz 'k V[Vl 77> 4 80.27 | it
(010)x 11245 (125300)4>it (O1)Edh 73 A1 5 0 55 e 3 B2 4 QF*rrrwrsarax 344 83.14 fisi -+
(010) & iP5 (125300)2x it (O1)HHiE 73 b7 5 04 25 1k 35 AR 5QQ****xxxixixn ()5 80.67 | Mt
(010)x it (125300)4>it (01)%#m 43 50 5%tk 55 SR 5 Q*xrrrsariar AL 87.00 fisi -+
(010) 21 24P5 (125300)2x it (01)F#m 43 50 5%tk 55 FfS 16 B 32 *HHHHAIAXH ()41 80.76 fifit
(010) 2 i24P (125300)= it (01) e H 43 #7510 55t 5 R 2 QreHrkReIRR 37 () 87.93 | Wil
(010) 2 it-24 P (125300) =it (01) 554 73 i 50 5% e s AR R 7/ I ool V' 80.47 | Wit

1540 59




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(010)£x 11287 (125300)£x it (01) K4 23 M7 51 5% v 55 TR 3ZQrrerrrkrkaEx ()14 80.97 | Wit
(010)£x 1287 (125300)£x it (01) K4 23 M7 51 5% v 55 RENH (210 b ¥ 80.13 | it
(010) 2=t B (125300) =it (01)F#m 43 50 %tk 55 T FK Y 21 QF*rxxxRRExD1() 81.20 | #it
(010)2x 1t 2%B% (125300)2>1t (01 B3 40 W1 50k 4% e o e KY{VieiaioiaocY ) 83.57 | fijit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 = BQQ*****srkrkx (D) 87.33 | Wit
(010)2 2P (125300)4> 1t (01 & HiE 7341 5 W 28 1k 5 WA A3 Qrrr*xrRRIEXD()D 83.30 fifi
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 JE e Q¥ *r*xkRkREXD DD 87.20 | Wit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 T sEa K110 e 4 83.30 | fit
(010)2 2P (125300)4> 1t (01 & Hia 73 #1528 1k 5 EIE )L 51 Qx**xxsrxrixr5Q 87.24 fifi
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 Va2 Y4V eieioiada(0 1575 83.94 | Wit
(010)2x it 25 (125300)4> 1t (01 & Hia 73 #1528 1k 5 E# VS Rebeiiebedobaiade” 1 ¢ 81.23 fifi
(010)2x it 25 (125300)4> 1t (01 & Hia 73 #1528 1k 5 FLEE P i eieeiobeiobeidel 7 4 81.43 fifi
(010)2 2P (125300)4> 1t (01 & Hia 73 #1528 1k 5 BN SN I eieiaieedebedada 0 1 85.36 fifi
(010)2 2P (125300)4> 1t (01 & Hia 73 #1528 1k 5 Fi#rF 2 QrrRxmERRIEXQIA 90.04 fifi
(010)2 2P (125300)4>it (01 & HiE 73 #1 5 W 28tk 5 EHT P2 ebeioieiobeiod [ 10) 80.13 fifi
(010)& 1t 24Bx (125300) =it (01)E5d 43 Mt 50 4% e o FEM 1 3Q¥rHrrReRERE14Q 83.17 | fiit
(010)2 2P (125300)4>it (O1)EiHiw 73 #1528tk 5 A 3G2xH*xrERNIEXIGOR 80.87 fifi 4
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 R 1oV bbb X0 83.13 | it
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 M B A 5 Qr**sssrkrisgag 81.54 | Wit
(010)2x 1t 2%B% (125300)2>it (O1)Eed 23 M7 51 5% v 55 B 3]0 e e} 89.44 | Wit
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 W QB Q*x*xwrkrknix()D() 81.50 | it
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% v 55 HEME 53 rewsskskikxgn) 84.73 | Wit
(010)2 2P (125300)4> 1t (01 & Hia 73 #1528 1k 5 BB 51 Qx**xxssxsixr ()50 84.43 fifi
(010)2x 1t 2%B% (125300)2>1t (O1)Eed 23 M7 51 5% e 55 BAELE Z2QrHrrskrkRERGAQ 82.07 | Wit

w541 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(010)x it (125300)4>it (01)F#m 43 50 5%tk 55 BEAS QA QrrrrraraRix ()47 86.46 fifit
(010)x it (125300)4>it (O1)Edh 73 A1 5 0 55 e 5 BE—k 7% 0 kil A 1 80.67 fifi -+
(010)x it (125300)4>it (01)F#m 43 50 %tk 55 AT EK 51010 oo/ ¥ 86.56 fisi -+
(010) 21 24P5 (125300)2x it (01)%#m 43 50 5%tk 55 ZIESS SN iobeiobeaiabodal 4270 86.20 fifit
(010)x it (125300)4>it (01)%#m 43 50 5%tk 55 ki X [0 i’ ¥ 4 85.24 fisi -+
(010) 21 24P5 (125300)2x it (01)%#m 43 50 5%tk 55 k= J179 3EQ*****xrxrxx30Q 83.34 fifit
(010) 21 24P5 (125300)2x it (01)F#m 43 50 5%tk 55 7L 7% N0 ichieiaiaa? ¥y ¢ 82.83 fifit
(010) 21 24P5 (125300)2x it (01)F#m 43 50 5%tk 55 MR 5 qrexariarixrgog 85.00 fifit
(010)2it24B% (125300)2>1t (O1)Eed 2 M7 51 5% e 55 FHER 21 *rsrkrininix()D() 81.57 | Wit
(010) it 2P (125300) =it (01 &5t 31 5 0 55 e e wiEA G Qrrrsrkreise] DG 87.00 | Wit
(010)2it24Bx (125300)2>1t (O1)Eed 2 M7 51 5% e 55 HBEE VN itV ¥:1 83.63 | fit
(010) 2 it-24 P (125300)= it (01)F#m 43 50 5%tk 55 JRIERE 14Qr*rrxrrinixgqQ 87.13 | Wit
(010) 21 24P5 (125300)2x it (01)F#m 43 50 5%tk 55 KR 7] 0 ichiabedabedal T Y 87.73 fifit
(010) 21 24P5 (125300)2x it (01)F#m 43 50 5%tk 55 KE K QA rremiamiarix ()4 4 81.83 fifit
(010)x 11245 (125300)4>it (01)F#m 43 50 5%tk 55 KEWW 5 Q***xxrixixx3n3 83.94 fisi -+
(010)x 11245 (125300)4>it (01)F#m 43 50 5%tk 55 kA X [0 bbbk 7 84.70 fisi -+
(010) 21 24P5 (125300)2x it (01)F#m 43 50 5%tk 55 TR 34Qr*rrrrrarixr5o() 89.46 fifit
(010)x 11245 (125300)4>it (01)F#m 43 50 5%tk 55 KB K & i V1 86.43 fisi -+
(010)x 11245 (125300)4>it (01)F#m 43 50 5%tk 55 KEMR Z5QF*rHxrRrA*T OG 81.63 fisi -+
(010)£x 11287 (125300)%> it (O BHE 2 50 45k o o QAQ**rrrkrinix (0D 84.66 | it
(010)x it (125300)4>it (O1)Edh 73 A1 5 0 55 e 3 AR IR 5 3*xrxrarixixr()nQ 82.46 fisi -+
(010)x it (125300)4>it (O1)Edh 73 A1 5 0 55 e 3 ARREBAT 2 QF*rrkxRRE* (D1 86.00 fisi -+
(010)x it (125300)4>it (O1)EHh 73 A1 5 0 55 e 5 BEE 32QF*rHrrwarkA*T 5D 81.46 fisi -+
(010)> 11245 (125300)4>it (01)F#m 43 50 5%tk 55 E Y K10V Atabieiobiaieda 77> ¢ 89.36 fisi -+

w542 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(010)2 it 245 (125300)4> 1t (01) & HiE 73 #1528tk 5 J& )R BQQ***xksnkxxgEA 84.50 fifi
(010)2x 1t 2%B% (125300)2>it (01) K4 23 M7 51 5% v 55 J& %% {0 bbb (57: 83.27 | Wit
(010)2t2=p (125300)4> 1t (01 & HiE 7341 5 W 28 1k 5 KB (37210 beiaiedobeiada s V¢ 82.70 fifi
(010) 2=t B (125700) it (02) K& #i v 1 BB 5 Q*****xxkxc*xD4D 80.53 | Wit
(010)x it (125700) % it (03) A F ] 5 XU 3 G#EE P I bbbt & [ 84.07 fisi -+
(010)2x it 25 (125700) % it (O F it 5 E G B TER 14Qrr*xsxxixrix 48 77.90 fisi -+
(010) 2=t (125700)# it (03) A s ] 5 AL 7 B k2 Yt oo 03¢ 82.16 fiji+
(010)2x it 25 (125700) % it (O F it 5 E G B =& S ioiciobaioiode* - 72 80.54 fisi -+
(010) =it 2Fx (125700) it (02) R ¥ e it R 53Qr*rresrinis(q () 85.24 | Mt
(010) =it 2Fx (125700) it (02) R ¥ e it WNIR V4 [0 ieieioiaiod -7 80.06 | Mt
(010)2x it 25 (125700) % it (O F it 5 E G B WK 532 *xwxrkxrixx g 81.60 fisi -+
(010)2x it 25 (125700) % it (O F it 5 E G B X1 A 21 QrrarrrrxREx ()6 82.90 fisi -+
(010) 2=t (125700) it (02) K& #i a1 XK Vi i Rt X 1 8527 | Wit
(010)£x 11287 (125700) it (02) KHHE & 1t pyIpES 51 ressssrininglQ 80.33 | #it
(010) 2=t (125700)# it (03) A s ] 5 AL 7 B BEFE 5] Q**r**rirrixx 08 84.40 fiji+
(010) =it 2Fx (125700) it (02) R ¥ e it L2 5 {ressseninis5ag3 76.14 | Wit
(010)£x 11287 (125700) it (03) A F ] 5 XU 3 FE T 14QFrrrrerernrn14Q 79.97 | Wit
(010)£it 225z (125700) % it (03) A Fi 2 il 5 XUy 7 2 WE 33Qr*xrrrirqQ 80.60 | it
(010)2x it 25 (125700) % it (03) A s ] 5 AL 7 B EFEMW P2 [ bbbl 477 78.40 fisi -+
(010) =it 2Fx (125700) it (02) R ¥ e it EHE 5 Qrrrsrssxxix3zGq 78.70 | it
(010)2x it 25 (125700) it (03) A s ] 15 AL i B RBE8 3E2***xr*x*IAXX()D() 82.53 fij -
(010)£x 11287 (125700) it (02) KHHE & 1t WIBH ] bbb} ) 84.37 | Wit
(010)2x it 25 (125700) % it (03) A s ] 5 AL 7 B o) 7% I Reichieiaiaed 710} 85.37 fisi -+
(010)2x it 25 (125700) % it (O F it 5 E G B S 3 ioieioiaioiadels 1) ¢ 84.36 fisi -+

1543 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

RHUERR FECE FEURE FJT ) 2 51 =R 027 Y
(010) =it 2Fx (125700) it (02) R ¥ o it E13/4% 5 Qrexsxininixgy 84.70 | it
(010) =it 2Fx (125700) it (03) N s il 5 B 5 2 X A 4O xwxwxkxkRAIX()D Y 84.67 | it

1944 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

SREUERE EEE FEU T T 18] 4 55 =R 922 S it
g Ti 1 yitEHLS A T8 R | (081200)iHEHLRESHA (02)THHEHLS FHEA PRIEA K B Q***xx*xxrixx39Q 85.86 fifi
(E 1?)%%:1%5 ANTERE | (081200) i HAHLEL = S5HA (03) N L& fe B /N 35Q***xFxFHIAX (D 86.34 | it
E E)ﬁrﬁiﬂ% ANT#R: | (081200)itH Al F 5H A (03) N L2 fiE WA VDY bbb W 85.14 fifi
(E £)ﬁﬁm'§ ANTH6e | (081200)itHAHLR A HHA (03) N % Rt HME 7% 0 bbb § D 4 88.34 fiyi+
gE ﬁ)ﬁrﬁﬂ% N2 | (081200)iHEHIE 2 HHAR (02)THFEHLRL A H A S 1oV i I 82.34 | Wit
(E £)ﬁ%:m5}\1%? fe | (081200)iH MR 5HA (03) N T fig BIRR KT (Vi (K 83.66 | it
{E Tj)ﬁrfﬁ*ﬂ% ANT%EE | (081200)i+HALEL 2 S5HA (02)TH5HLR R T 13Qr*xHxxmn*257 84.20 | fiit:
(E G)ﬁ%ﬁﬂ%kiﬁ fe | (081200)iH MR 5HA (03) N TR FHEF B **xrrrrrenk 357 87.54 | Wit
Z f?)ﬁﬁiﬂ% ANT#R: | (081200)itH Al F 5H A (03) N L2 fiE T 5QQ****x*xxskxxgQn 80.26 fifi

F

w1545 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

FRHUF B FECE FEUT 5 1A] i A5 =R 027 Y

(012)41 5 2B (0502114 METEF % LR HTE | (00)A X 708587 [H] Z=F 5QQ******x*x¥xx222 86.64 | Hit
Bk

(012)4h H 15 2= B (0502Z 1) 55 JLiE T 7T (00)ANIX 53-8t 5T 77 Iri) HE 5 3*ressrsririsgoE 84.73 | fiit

(012)7hH iB 2B (0502Z 1) 55 JLiE T 7T (00) A X 43 HF 7. 77 17 WHE 51 {xersrennining o7 9220 | it

(012)41 15 2B (055101)5LiBE & (00) A~ X 43 75 J7 IF) FE1E 7170 oo 1 ) 4 80.26 | Mt

71546 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L KRR FEUT 5 1A] 4 IRGEERT BRAmE RH
(015)i%2 B (030104)/fi%:2 (01) [ TRk 2 0% 7/ e ool 15 83.73 | Wit
(015)i%2 B (030104)/fi%:2 (01) [ TRk 2 EFt 51 Q****xrkrkrks7 6D 8245 | Wit
(015)i%2 B (030105) R i+ (01) RAEHF 5T TH R 51Q****xxxrkrirgyQ 84.13 | Wit
(015)i%% i (030105) R i+ (02)FiEH 7T X Z&FH B52*x**sxskxRxx )DL 85.12 | Wit
(015)i%2 B (030105) R i (01) RAEHF 5T JE T8 SN i oo ¥ 80.91 it
(015)i%2 B (030105) R i (01) RAEHF 5T KEFF SN i oo O I 76.28 | Wit
(015)3F24p5 (030107) 2 5 2% (02) T ML HIE T 7T B2 BQQ****sseseixg)q 82.42 | Wit
(015)iF2 5 (030107)4 52 (02)TiT M HIEA 72 farwk 5 3*xrxrarixixrgo() 76.20 | #Wit
(015)iF2 5 (030107)& 52 (01)&:FhyZ Mt 51 24 5 Q*****xrkxxxx305 84.38 | Wit
(015)i%% i (0301Z1) &y 5 (00) AN X 43 Bt 52 J7 111 EH3C 5 Q¥**xrkrkrrar3 34 76.81 fisi -+
(015)7%2 B (035102)i%4# (1525 (ON)ANIX 43858 )7 [r) BriEF SN i oo 21 83.51 it
(015)i%2 5 (035102)7: 4 (#£%) (O1) A X 48577 [F1] MRAR 33QFrHxrHrERI*GI] 7729 | Wit
(015)i%2 5 (035102)7: 4 (#£%) (O1) A X 48577 [F1] B 2% o) i aieicioieaial 4210 7899 | Wit
(015)i%2 5 (035102)7: 4 (#£%) (O1) A X 48577 [F1] MM 5 Q*r*xxrixixrg() 7440 | Wit
(015)i%2 5 (035102)7: 4 (#£%) (O1) A X 48577 [F1] KEH 5QQ********xxx+Qge 7525 | Hit

1547 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L 3|4 FEUT 5 1A] 4 W55 BRAmE RH
(016) 5 78 8 3 2B (030501) 5 o B3 AR | (02)5w B E: L 5H& KRR ZRH HQQ****xsxrsrirgnq 87.00 | it
(016) 55 77 8. 3= S 2E4Bx (030505) BB HH (02) K BB BUAH S ATk T 51 Q***xrkxxinxrggQ 77.62 fij -

71548 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

RAFB RECE RS TT [ 4 5 Hildgst R4

(O19)R & B | (1204Z1)f & Sl 2 | (03P b 5 e

w1549 59T



VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(020) %k 2=t (0202Z1) % 2 45 fih (01) &Rl B ™ & A 3L J 7 v: AW VX0 bbb Y 84.33 fifi -+
(020) %2 b (0202Z1) 53 4= b 2 (03) il ot Y3 5 7 ik fRT 38 2] Ferwrnararix()38 85.67 | Wit
(020) % 2=t (0202Z1) % 2 45 fih 5 (01) &Rl B ™ & A 3L e 7 v: BT 42 Fxrwrnrrarix ()35 83.67 fisi -+
(020) % 2=t (0202Z1) % 2 45 fih 5 (01) &Rl B ™ & A 3L e 7 v: WK 5QQ******xkxxxgoQ 82.67 fisi -+
(020) % 2=t (0202Z1) % 2 45 fih 5 (01) &Rl B ™ & A 3L e 7 v: ARAR 23(QrHrrwarkxIAxY 38 85.33 fisi -+
(020) %24 B (0202Z1) 534 4 b ¢ (03) il o Y3 5 7 i REH 32QrHrwrkrkRER D) 82.33 | Wit
(020) %24 B (0202Z1) 534 4 b ¢ (02)& Rl THH 507 B AR ERF B1Q****rxrxrx040 82.33 | Wit
(020)% % 2% (0202Z1) 5 F 4 fib 2 (02)&mit H S5 HHA EER 13Q*r*rraRRxD DG 88.67 fifi
(020)% 2257 (0202Z1) 53 4= b 2 (03) il o Y3 5 7 i 2R KV R0} 78.00 | #it
(020)% 2257 (0202Z1) 53 4= b 2 (03) il o Y3 5 7 i B 3]0 oo 7 "¢ 79.00 | Wit
(020) % 2=t (0202Z1) % 2 45 fih (01) &Rl B ™ & A 3L e 7 v: S}i$2a 14Qr*rwxserinix ()84 83.33 fisi -+
(020) ¥ 22 B¢ (0202Z1) % FH 4 i ¢ (02)&:fb it B 517 HEAR K K]0 aiieiobiaiedeCl D¢ 83.33 fisi -+
(020) % 2=t (0202Z1) % 2 45 fih (01) &Rl B ™ & A 3L e 7 v: KEAH X I bbbl /¢ 83.33 fisi -+
(020) % 2=t (0202Z1) % 2 45 fih (01) &Rl B ™ & A 3L e 7 v: S7] 70 ichaieiaiaded o7/ 78.33 fisi -+
(020)% 2257 (0202Z1) 53 4= b 2 (03) ¥ Bt P o 5 7 2% A 13 Fersxsarinix ()00 83.67 | Mit
(020) % 2=t (0202Z1) % 2 45 fih (01) &Rl B ™ & A 3L J 7 v: K" 14 rersxserinix )48 85.67 fisi -+
(020)% % 2% (070100) %2 (OB)HL s 2 ) B HE 1R 5 B FEAT 5 Q*xrxrsarixxg4() 86.67 fisi+
(020) % 5= 2= B (070100) % (04)iz %= 518 JE 24 Bk 522 **xxxxkrkrkxg A 81.33 | Wit
(020) %2 b (070100)%5 2% (03)3i F %2 1] i Af 5 3#rsrsarinies)73 83.67 | Mit
(020)% % 2% (070100) %2 (02)TH5H % REN 51Q****xx¥xrkxx()86G 81.00 fisi+
(020)% % 2% (070100) %2 (02)TH5H %2 L ESE s 51Q******¥xxxx+Q5 87.00 fisi -+

5 50

H59 7T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L EHCE FEUT 5 1A] 4 IRGEERT BRAmE RH
(021)&¥F 5E# bt | (020104)74 )5 225 (05)8% F oML 28 B AT 95 e 7] oo K Y'4 90.00 | Mt
(021)&¥F 5E# bt | (020104)74 )5 2251 (05)8% F oML 28 B AT 95 BRAERR I R (0¥ 7250 | Wit
(0214 5F SEFAF 7kt | (020104)08 77 &5F (03) 7 M4 5 B 12 5 UK FhBEF KVttt (01 89.33 | Wit
(02N &G 5 5kt | (020104)P5 7 £ 5t (01)77 41 21 5 B AT 51 HE®R 450 120 92.33 | MmitL
(02N &G 5 5kt | (020104)P5 7 £ 5t (06) X 435 5 39 i 22 G AT 52 B B1Q******rkx*x24D 81.17 | Wit
(02N &G 5 5kt | (020104)P5 7 £ 5t (06) X 435 5 39 i 22 G AT 52 B4 X [0 il /¥ 4 89.00 | #it
(021)&¥F 5E# bt | (020104)74 )5 £ 5F (02) A FL 2 BB AT 7T Bk QAYQrHrrrErERaRE()DY 70.00 | it
(02N &G 5 5kt | (020104)P5 7 £ 5t (01)7 1 41 5 B AT 55 ST 22QxrrrrREREADT 87.33 | fiit:
(02N &G 5 HF 5kt | (020104)P5 7 £ 5t (03) 7 M4 5 B 12 5 UK Z4E ML 13QF*rHxrmEREx 14 84.34 | Wit
(02N &G 5 HF 5kt | (020104)P5 7 £ 5t (01)7 1 41 5 B AT 55 X AE 48 77N D Y 86.67 | fiit:
(02N &G 5 HF 5kt | (020104)P5 7 £ 5t (01)7 1 41 5 B AT 55 PR 352 rHmwmemEnix528 89.00 | fiit:
(0214 FF SEFAF 7Bt | (020104)08 77 &5F (02) A AT BRI AL FRAR 13Qr*rHrmRrEI*()G 1 81.34 | Wit
(021)&¥F 5E# bt | (020104)74 )5 2251+ (04) M 28 5 #E 1R S IEUR 3 51 {ressseninis3GQ 79.84 | Wit
(021)&¥F 5E# bt | (020104)74 )5 2251+ (05)8% F oML 28 B AT 95 F AN 110 e To V| 85.17 | it
(02N &G 5 5kt | (020104)P5 7 £ 5t (06) X 435 5 39 1T 2 G AT 52 ERE 51Q****xrixixx01Q 68.84 | Wit
(021)&¥F 5E# bt | (020104)74 )5 2251+ (05)8% F oML 28 B AT 95 L9 5QQ*****esrsxksnng 70.00 | Wit
(02N &G 5 HMF 5kt | (020104)P5 7 45t (02) A AT BRI AL S5 B1Q*****xrixxx31Q 86.33 | Wit
(02N &G 5 HMF 5kt | (020104)P5 7 45t (O5) B TS 42 55 4 = BE Y J7Q*HH*FxHEXIXARED 7417 | Wit
(02N &G 5 HMF 5kt | (020104)P5 7 45t (01)7 1 21 5 B AT 55 YRE 3BQ 544 7347 | Witk
(02N &G 5 HMF 5kt | (020104)P5 7 45t (06) X 435 5 39 1T 2 G AT 52 T SOQ******rkxsxrgq D 69.17 | Wit
(02N &5 5E MM 5kt | (020204)< (01) B AT HFE Z2QrHrxxwxixix ()] 7050 | it
(02N & FF SEEMF LB | (020204)4fl~ (05)4 Rl HLAG B 8 BRI 130 r*044 93.33 i
(02N & FF SEEMF LB | (020204)4fl~ (0N BEATI BN B QF*xxxxrEx*ZAX 76.67 fisi -+
(02145 S FRF 7B | (020204)%ft%y: (02)7 7] 4=l EER 14 Q*rrsrrnnrie] O 83.00 fifi
TG 51 JL59m




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

g3 3L 3|4 FEUT 5 1A] i S BRAmE RH
(021)&¥F 5E# bt | (020204)%&fh~F (04)ZX Z 4=k 781 ATt K110 i C R K| 89.33 | it
(02N &G 5E M 5kt | (020204) <2 (02) 2~ 7] <z fifh Z=EML (K0 it S ! 89.00 | Wit
(02145 S FRF 7B | (020204)%fh2: (02) 7 ] 4=l Z= ik B 1 3Q**rHxraxrixgo() 67.67 fifi
(02N &G 5E M 5kt | (020204) < (02) 2> 7] <z fifh &2 4Qrxrxxnin ()G 72.00 | it
(02N &5 5E MM 5kt | (020204)< (01)BEATTY) PR ViV 10 ki 81.00 | Mt
(021)&¥F 5E# bt | (020204)%&:fh~F (02) A 7] 4k BE&SE TN RV ¢ 86.33 | Mt
(021)&¥F 5E# bt | (020204)%&:fh~F (04)ZX L 4=k KRG 21Qr*rerkrarar3DQ 9267 | Wit
(021)&¥F 5E# bt | (020204)%&:fh~F (04) 7 & = it HEAR K10 A VIS 68.00 | Mt
(02N &G 5E MM 5kt | (020204) < (02) 2 7] 4xfil HCE BEQ*****xrxrrrGEY 86.33 | Mt
(021)&¥F 5 # bt | (020204)%&:fh~F (01)BEATI ) Je R BE 771 e V| 7150 | Wit
(02145 S FRF 7B | (020204)<%fh%: (02)2A 7] 4 Fil TR IK TN B3QkrkkkkkINREA 1 83.67 fiji+
(021)&¥F 5 # bt | (120202)4 0 B (01) I 5 B 5 40 44T Ny 2=t J7 {remsmarsaix (D] 66.34 | fit
(021)&¥F 5 # bt | (120202)4 0 B (01) I 5 B 5 40 44T Ny x| &5 R [V hiieiebiaiiaiic ¥ 76.84 | it
(021)&¥F 5 # bt | (120202)4 0 B (03)iz & 5 it b e A P FRE 21Q**x*xrrxrrrg2() 92.00 | Wit
(021)&¥F 5 # bt | (120202)4 0 B (02) T3z E 4 nE J7 rererrnining D 74.34 | Wit
(021) & S5 BIRF TSR | (120202) 4k (01)dR M5 B 5 240 44T N F g Y K et 7 86.00 | Mt
(021)&¥F 5 # bt | (120202)4 0 B (01)dGHs B B 5 AL 4T N FBEWN VIV 10 kbbb s 68.84 | Mt
(021)&¥F 5 # bt | (120202)4 0 B (02) i 7 E W TR B G Qrrrsrkreirs())7 68.34 | Wil
g 52  JL59m




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(023) [E P& G 7L | (020201)F R4 5+ (02)7 M4 G0 70 IhF Z7QrersskRkRERT DD 87.50 | fijit
[T
(izs)q: FE PG4 5eit 7 | (020201)H R4 5% (01 E RAFFIZBITH A A% 33Qrrerrrararirg() 87.37 | Wit
Bt
(323)43 E VA3 | (020202) X Ik 5 2 (02)4 17 5 X 322 5 A Tt BERAX 5QQ***rrEx567 88.30 | it
.
()523)41 FE G457 | (020202) X 34 5 5 (02)4 11 5 X B2 55 I K 7% iks3 5 qressssriringy 84.90 | Wit
Bt
(323)43 E PE 25T 58 | (020202) X 3k 48 55 (02)3 17 5 X A B FF KW 55 #HiaR 5 3**xwsriarixxgpQ 85.60 fisi -+
[T
()(?23)E|: FE G457 | (020202) X 34 5 5 (02)4 11 5 X B2 55 I K ¢ XI#i 51 *x#xrsriniergQ 84.97 | Wit
Bt
(323)43 E VA3 | (020202) X Ik 5 2 (02)4 17 5 X 322 5 A Tt FEEH 7 {0 i S 85.96 | it
.
()523)41 FE PG #4557 | (020202) X 34 5 % (02)4 11 5 X B2 55 I K ¢ A5 R BQQ****ssrsskxn0 88.07 | Wit
[
(;[323)43 H P25 50 | (020202) X 3k 48 5 (02)3Th 5 X & B &t 9t KA 21QFrrr*949 84.34 i
[T
(izs)q: FE PG4 5e it 7 | (020205)7 k£ 5% % (03)F= M mt f A AR sk | B2 E K15 i V% 8454 | Wit
[
(323)43 E P& 57t | (020208)7 Mk 28 52 (02)7 L HL ., bk 5 W BCGE| BER Q¥ *rkwirixR*()D 91.37 | Wit
[T
()523)41 FE PG H A 5e 07 | (020205)7 k25 % (0=l ghity 5l & i BB 7% i e &t 90.47 | Wit
[
(323)43 E P& 57t | (020208)7 Mk 28 5= (03)F M Frb B AP AR BT sk | BEEEE 52Q*x*xxxe*x220 85.17 | Mt
.
()523) HHE TR BT | (020205)7 MV 48 5 2 (04) Bt 5= 4 #r ERTE 5 Qr**ssssrsris ()39 93.70 | Wit
[

71453 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(023) F EFHHRLFFF T | (020205)7 k2 5F 5 (03) 7 b 5 it 7% 0 Ay 5% i % v 5% L S 2FHHrrmIIAR*312 82.60 i
[T
(ngs)q: FE PG H 4 5e it 7 | (020205)7 k235 % (O1) kgt 5=k Kk e o5 5 3*ressrsririsgoE 86.54 | Wit
Bt
(323)43 EH g asrsc | (020205)7 k28 52 (O1) gty 5=l K f NI 2 QrHrmkrmERRER (4 4 91.63 fiji+
.
(ngs)qj E PR T | (020205)7 L2 %2 (02)7=MZHZ, bl K 5 A BUR | BHEX 5 q*xessssrarisfog 8763 | Wit
Bt
(323)q: E P& 57t | (020208)7 Mk 28 52 (02)7= LR, MK S R BUR| fkinde 43 rrrrenena9 89.24 | Hit
[T
(ngs)q: FE PG 5eit 7 | (0202J5) 4% 48 iF 2 (04)i5 A P2 2 55 R Je ke 23 *rwrkrkrininq()3 85.56 | fiit:
Bt
(323)43 E g se | (020205)401 48 5~ (02)F ALY A f B 18 5 S i g BN Q4Brrxxwrriarin] 37 85.06 fifi -+
.
(ngs)q: FE PG4 5eit 7 | (020245) 4% 48 iF 2 (04) R P A T K8 2= 51 3*ressrariris()nQ 88.10 | Wit
[
(gzg)q: E PG5 05 | (0202J5) 4 4% 2% (02)BLARA MY & e BE 18 5 52 ik B T QAQ**rwrkaknixT OF 85.30 | Wit
[T
(ngs)q: FE PG4 5eit 7 | (020245) 4% 48 iF 2 (04) R P\ A T K 8 JEELH 53Qr**rsrsrkrisgr) 86.16 | Hit
[
(323)43 FE PE s pr it 7t | (0202Z8)7H 9 &% 2 (02)JF B3H AT N5 W S i it ot L 430Q*F*xxrr*035 87.27 fi
[T
(Jggs)q: E PG4 55 | (0202Z8)7H & i 2 (2)FEHFAT N EH RN | WIEE QA rHxriariaRir ()14 85.90 fisi -+
[
(323)43 E G455 | (0202Z8)7H 4 i+ (02)/F RiH AT A SRR | ZERFER A QF*x*xRRrExI*DD 1 89.14 | Wit
.
()gzs)ﬂlﬂ E VA5 | (0202Z8)7H # 4 b2 (02)fF R TAT N SR TLHR | HEE 51 Q*rHrsrxg2h 83.30 | fiit:
[

19 54 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(023) [H LG 7L | (0202Z8)iH B2t (02)/F RiH AT A ST AR | BEF 522*x*xwmkxkkx ()47 82.87 fisi -+
[

(023)H [H VGG | (0202Z8)iH P2t (02)F R TAT ASHEH R | BFA ViV bbbl 21 89.84 | Wit
-
(&@*E@%%%ﬁﬁ (020229)iLiE &3 (01)JAt e = b & R o 9t R 7 QrremmmrxG43 88.00 | Mt
.
(&&¢Eﬁ%%%ﬁﬁi (0202Z9)it il &% 4 (02) 7t i JETE AT 71 JASEAX 51 q*essssrisis3znn 93.97 | Wit
-
(&$¢E@%%%mﬁ (095137 )4k & B (0B £ 22 4= X 23 U 5 Q*rrsrserixn3zq3 84.20 fifi -+
.
{$$¢Eﬁ%%%ﬁ% (09513741 F (02)5 A il 2 TR K110 a0 o 86.67 | Wit
-
(&$¢E@%%%mﬁ (120301) 4 )Ml & i B (02)P A 7=k 2 B 4 2 EGES 5 qr*xsariarixrg)3 85.77 fisi -+
.
(&&¢Eﬁ%%%ﬁ% (120301) 4R 22 F & 3 (1) RAT AT RS KR BER 14 rexixsrinin] g9 8456 | Wit
-
(223)43 E 2T | (120301) 4k 2057 5 3 (03) 2 FHEHEL 5 U WE 5QQ****xxxx290 87.27 | Wit
.
5 (120321) 2 M b g (0N 2 W&T K& AT 4 5 x*xssssssixs g0 87.56 fiyi+

(023)H [H Ph E & B i 51

P

71455 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(024) N\ T 5 R %P (045300)H frHsc A (O1)Elprrh CHEH L 55k XS 7T 0 ichaieadaetc T 4 88.72 fifi -+
(024) N\ L5 ZR 5 (055200)#7 [ 5 1& 4 (02)h 22 37 1) i 1 E3'q- K bbb 5 ¢ 83.44 | Wit
(024) \ L 5 E R (055200)#7 1 5 1£ 4% (02))i 225 [E1 BT 55 & 23(*r*rkrkRkRERT DT 82.48 | Wit
(024) \ L 5 R 2% (055200 [ 5 1& % (O3) -1 AA bt 5 RzIL KTV Adiobeiebaiaaiel P15 84.04 fisi+
(024) N\ T 5 R %P (055200)#r [# 5 & 1% (03) £ B AR H2 ViR 52 ***xkkkxkkxk()G4 83.72 fij -
(024) \ L 5 E R (055200)#7 1] 5 1£ 4% (02))i 225 [E1 BT 55 KR SR [0 iiieiebiobiok P21 87.96 | it
(024) \ L 5 R 2% (05520033 [ 5 1& % (O3) -1 AA bt 5 AR X [0 ibieiebiobaiol [515) 79.48 fisi -+

1456 59




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

EBUERE EHCE KU F T 9] w4 W55 RS R
(025)t 22 K ettt 75 b (030301422 (ORDESS B s KHE 142 xxwxwnnianixg () 89.77 | HEA
(025)# 22 K ettt 55 b (030301422 (02) 1 HIAE FC AR TY Q4 QrHrrrrriarixGA () 91.00 fifi -+
(025)# 22 K ettt 55 b (030302) A 12 ()N 5& 5t 2R R iz 5] QA QrHrrrrrrRx ()5 89.28 fisi -+
(025)# 22 K ettt 55 b (030302) A 12 (03) R EHLIX N\ 15 % Ji RZLER X bbb /% 91.30 fisi -+
(025) 423 K F w5 B (030304) 142 (02) R A 3Lk X 750 ioiobbeaia(o V.V 9214 | Wit
(025)# 22 K ettt 55 b (0303Z1 (&4 5 2 (02) &t 22 Az 33QFHrrararrrg ()3 85.00 fisi -+
(025) 423 K F w5 B (0303Z1)#t 24352 (ON&Fr KRSt FImg 4 FrarsrininingQ 82.93 | Hit
(025) 423 K F w5 B (0303Z1)#t 2452 (ON&Fr K SHtain e TFEHH 1 3Q¥rHrrRERERED DL 8463 | Wit
(025)# 22 K ettt 55 b (035200)#: 2> T 1k (02))LEFH /D2 TAE RIS B 5 3rrxsariarixx()ng 85.42 fisi -+
(025)# 22 K ettt 55 b (035200)#: 2> T 1k (02))LEFH /D2 TAE RE 12Q***xwRrkARIXGAD 86.50 fisi -+
(025)# 22 K ettt 55 b (035200)#: 2> T 1k (02))LEFH /D2 TAE FEH J72rHxkrARIAH () DG 85.36 fisi -+
(025)# 22 K ettt 55 b (035200)#: 2> T 1k (01)#: X 2 TAE KITEER 5 Q*r**srsxsex()DQ 85.78 fisi -+

71457 59




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

FHUFERE 3 | 4 BB T 1A /i S5 BiABGT RH
(030 HRL¥ 5 T | (120100)EF H Al %5 T2 (01) AR R H A 3 b 5 IRV A 21 Bx 5 Q*rHrrsrkninrg 45 80.60 fiji+
Bt
(030)& PRl 5 TR | (120100)F #A 5 T (014 Rk R4 7 A1 55 I A 3 RS (10 oo 7 ¢ 84.37 fisi+
5
(330)%@%4%51%%% (120100)EF H# Rl 5 T2 (04)f5 BiEH 5 & [ PR R H J7Qx+*xrwrxRExEQDA 88.00 fifi
.
()(;30)%@%4%@451%%%@4 (120100)EF Hi Rl % 5 T2 (03B 45 St i B K Ieaieieiabade” V10 8535 | Wit
5
(230)%@%4%51%%% (120100)& F R} 2 5 T (05) N T8 e 5 %¥s 172 [ FS VXY AsbsbobaeaicY b 87.63 fiji+
Bt
(030)EF# Rl 2% 5 TR | (120100)& #AA 5 TiE (014 Rk R4 7 A1 55 I A 3 Z= e X [0 iaieicioiadd 07:10) 84.23 fisi+
5
(330)%@%4%51%%% (120100)& F R} 2 5 T4 (01) AR R H A 3 b 5 IRV A 2 Z= 3 3 510120 84.94 fift +
i
()(;30)%@%4%@451%%%@4 (120100)EF Hi Rl % 5 T2 (02Q)RG T iz g & Z=E148 2 QFrrrrrrsarix ()15 81.73 fisi-+:
5
(330)%@%4%51%%% (120100)EFH# Rl 5 T2 (O5) N T2 e 5 34l 7% R 5 Qx**xrssxsixrg g 86.20 fifi
i
()(;30)%@%4%@451%%%@4 (120100)EF Hi Rl % 5 T2 (04)[5 BEH S &a s e =2 B 51 *xsxrsriniexq() 90.52 fisi+
5
(230)%@%4%51%%% (120100)& HL R} 22 5 T2 (01) AR R H A 3 b 5 IRV A 21 JE BT 51 3*remrnx (021 88.95 | Wit
i
()(;30)%@%4%@451%%%@4 (120100) & Hi R} 42 5 T2 (02Q)RG TR iz g & H J=54) VR0 bbbl B 0 83.33 fisi+
5
(330)%@%4%51%%% (120100)EF H# Rl 5 T2 (04)E EREHE &5 H.OB QA QrHersrsirrix ()8 86.10 fisi -+
i
5 (120100)EF Hi Rl % 5 T2 (04)[5 BEH S & e FEER 13Q**r*rrersrigOQ 85.47 fisi+

(030)& B A2 5 T

P

71458 59T




VR W 2 K5 2024 4E HE 77 S A U B ST AR SR B 48 B

FRHUF B FECE FEUT 5 1A] i A5 =R 027 Y
(030)& FERlY 5 T2 | (120100)FE Rl 22 5 T8 (04)E EREHE &R 5 EBEE 532*xwsrksrixxg () 82.03 fifi -+
5
(iso)%fiﬂ‘%éﬁﬁiﬁé (120100) & # Rl 5 TH% (02) R4 T 5iaEEH BAEFE 4 remxissninx ()7 83.53 | it
5
(330)%@%4%51%%% (120100)EF H# Rl 5 T2 (04)E EREHE &5 ®wEN 5 Q*x*xrsxrixx ()56 83.87 fifi -+
5
()530)%15%4%@451%%%2 (120100) & Hi R} 42 5 T2 (03) B i 45 St =i i B 2 QF*xxRxIRREXGAX 79.24 | Wit
5
(330)%@%4#51%%% (120100)F H# AL 5 T2 (01) 4 Rl KT 431 15 AU 5 3 F1E S [V Y 81.17 | Wit
5
(iso)%fiﬂ‘%éﬁﬁiﬁé (120100) & # Rl 5 TH% (05) N\ T4 -5 %54l T7% o3 2 QrexxkmRRRRD D 87.93 | il
5
(330)%@%4#51%%% (120100)F H# AL 5 T2 (01) 4 Rl KT 23 1 15 AU 5 Y755 51 rremame209 86.17 | it
5
(iso)%fiﬂ‘%éﬁﬁiﬁé (120100) & # Rl 5 TH% (01) 4 R R H5Hs 43 B 5 XU 3 Rl 3@ *rrRxERERLGDD 85.48 | Mt
5
(330)%@%4#51%%% (120100)F # AL 5 T2 (01) 4 Rk KT 231 15 AU 5 3 JE S0 3E2*x*rHrrrr(029 83.57 | it

B

71459 59T




